O©CoOoO~NO OIS~ WN -

PUB-NP-235
Supply Issues and Power Outages

Requests for Information on the Island Interconnected System
Page 1 of 1
Q. The response to PUB-NP-033 indicates that Newfoundland Power maintains an

adequate level of transmission, distribution, and substation spare parts and
equipment. Provide inventory documents, if practical, which would indicate the
amounts of available spare parts and equipment. The response also indicated that
the Company has materials sufficient to replace 5 kilometer of transmission lines. Is
this for 138kV or 66kV lines?

Newfoundland Power maintains an inventory of electrical system equipment and parts in
its Central Stores facility as well as in area offices located throughout the Company’s
service territory.* A listing of equipment and parts from Central Stores and area offices
is provided in Attachment A.

Electrical System equipment and parts related to substations is stored at Newfoundland
Power’s Electrical Maintenance Centre (“EMC”).2 A listing of equipment and parts from
the EMC is provided in Attachment B.

Newfoundland Power has a consignment contract with its pole supplier. The contract
requires the pole supplier to provide wood poles to Newfoundland Power’s pole
installation contractors at a fixed price.* Wood pole inventories are maintained at the
pole supplier’s facility as well as at the pole installation contractors designated pole
storage yards located throughout Newfoundland Power’s service territory.* The current
inventory of wood poles located at the pole supplier’s facility and in the designated pole
yards is provided in Attachment C.

Through contractual agreements, some of the Company’s electrical system equipment
vendors are required to maintain dedicated release quantities in local warehouses to help
ensure adequate equipment and parts are available outside of Newfoundland Power’s
internal inventory.”

Newfoundland Power maintains enough materials to replace both 5 kilometers of 66kV
transmission lines as well as 5km of 138kV transmission lines.

Newfoundland Power’s Central Stores facility is located at the St. John’s Regional office located at 50 Duffy
Place in St. John’s. The Company has 8 area offices located throughout its service territory.

The EMC is located at 877 Topsail Road in Mount Pearl. The equipment and parts stored at this location
includes mostly large substation items such as circuit breakers, voltage regulators, reclosers, and substation
power transformers.

When poles are installed, an invoice for the pole installation labour as well as the cost of the pole is provided by
the pole installation contractor to Newfoundland Power. The pole supplier invoices the pole installation
contractor for the cost of the pole.

Island pole inventories represent a shared inventory held by our supplier at various locations across the island
portion of Newfoundland and Labrador. These pole quantities may also be drawn upon by Newfoundland and
Labrador Hydro and Bell Aliant.

Newfoundland Power’s Purchase Order in place resulting from Request for Quotation RT003906 is an example
of a purchasing arrangement that has a requirement for maintaining dedicated release quantities. This Purchase
Order includes distribution hardware used by Newfoundland Power line crews on a daily basis. Dedicated
release quantities are reviewed prior to extending or renewing the Purchase Order.

Newfoundland Power



PUB-NP-235

Attachment A

Supply Issues and Power Outages

Requests for Information on the Island Interconnected System

Equipment and Parts
Central Stores and Area Offices

Newfoundland Power



PUB-NP-235, Attachment A
Page 1 of 23

Newfoundland Power Spare Parts and Equipment Inventory
Central Stores and Area Offices

Item Number | Quantity on Hand| Base Unit of Measure |Item Description
0604005 567 KG WIRE-SD.ALUM.TIE;#2
0604118 17,063 KG WIRE-ASC BARE O/H #477 kemil, "COSMOS"
0604125 14,656 KG WIRE-ASC BARE,#715.5 VIOLET,37 STRAND
0604204 31,682 KG WIRE-AASC BARE O/H, #1/0, "MONTREAL"
0604210 18,905 KG WIRE-AASC BARE O/H,#4/0, "VANCOUVER"
0604259 8,912 KG WIRE-AASC BARE, # 559.5 "DARIEN"
0608013 1,754 KG WIRE-ACSR BARE,#1/0 SCULPIN, 150%
0608018 483 KG WIRE-ACSR BARE,#2/0 QUAIL.6/1 RB STRANDING
0608020 938 KG WIRE-ACSR BARE,#4/0 PENGUIN,6/1 RB STRANDING
0608025 2,786 KG WIRE-ACSR BARE,#244.4 EHS SPECIAL-order by request
0608030 14,333 KG WIRE-ACSR BARE,#266.8 PARTRIDGE 26/7 RB STRANDING
0608032 2,156 KG WIRE-ACSR BARE, #266.8 OWL, 6/7 STRANDING
0608034 31,254 KG WIRE-ACSR BARE,#397.5 IBIS,26/7 STRANDING
0608038 2,355 KG WIRE-ACSR BARE,#477 HAWK,26/7 STRANDING
0610135 38,946 KG WIRE-ASC COVERED, #4/0
0620100 2,448 KG WIRE-CU,BARE SOL SD TIE, #4
0622051 389 KG WIRE-CU.,BARE,19STR.,HD, #3/0
0622122 216 KG WIRE-CU,BARE 7 STR., MHD, #1/0
0622130 1,360 KG WIRE-CU,BARE 19 STR., MHD, #300 MCM
0622140 66 KG WIRE-CU,BARE 37 STR., MHD, #500MCM
0622150 1,000 KG WIRE-CU,BARE 61 STR., MHD, #1000MCM
0622220 360 KG WIRE-CU,BARE 19 STR.,SD.,#2/0
0622221 339 KG WIRE-CU,BARE 19 STR.,SD.,#2/0 - TINNED COPPER
0622228 3,319 KG WIRE-CU,BARE STR.SD,#4/0
0622229 575 KG WIRE-CU,BARE STR.SD,#4/0 - TINNED COPPER
0626025 77 KG WIRE-CU,PEWP SOL.MHD,#2
0626100 600 MT WIRE-CU,#12,"BLUE", TW INS.,1/C SOL.
0626103 1,200 MT WIRE-CU,#12,"BLUE W/ BLACK TRACER"
0626106 570 MT WIRE-CU,#12,"BLUE W/ WHITE TRACER"
0626112 270 MT WIRE-CU,#12,"RED", TW INS.,1/C SOL.
0626115 600 MT WIRE-CU,#12,"RED W/ BLACK TRACER",TW INS.,1/C SOL.
0626118 779 MT WIRE-CU,#12,"RED W/ WHITE TRACER",TW INS.,1/C SOL.
0626200 1,800 MT WIRE-STREET LIGHT, SLV 12-2,300M/SPOOL
0628008 283 KG WIRE-CU,PEWP 7 STR. MHD #1/0
0628016 1,986 KG WIRE-CU,PEWP STR.SD,#4/0,19 STRAND
0628020 1,395 KG WIRE-CU,PEWP STR.SD, #500MCM,37 STRAND
0628220 611 MT WIRE-CU, 500KCMIL-1C, 37 STR RWU90
0628300 1,500 MT WIRE-CU EQUIP,#14,1/C,7STR MIN;600V
0628360 600 MT WIRE - #6, TW75, 600V, GREEN INSULATION, 7 STR.
0630010 16,251 KG WIRE-GUY,3/8" GALV STEEL STRAND,GRADE 160
0630020 160 KG WIRE-GUY,1/2" GALV STEEL STRAND,GRADE 180
0630030 8,668 MT Wire - 10M Comm. Cable Strand, .3/8", Grade 160
0630040 6,166 MT Wire - 6M Comm. Cable Strand, .1/4", Grade 180
0633100 28 RL WIRE-STAINLESS STEEL LASHING,.045"DIA., TYPE 316
0633200 442 KG WIRE-GALV. STEEL SOL.#5
0642090 53,859 MT CABLE-DUPLEX#6 AL
0642100 73,950 MT CABLE-TRIPLEX #4 AL
0642110 123,925 MT CABLE-TRIPLEX #2 AL
0642120 12,018 MT CABLE-TRIPLEX,#2/0 AL
0642200 4,139 MT CABLE-QUADRUPLEX #2 AL




PUB-NP-235, Attachment A
Page 2 of 23

Newfoundland Power Spare Parts and Equipment Inventory
Central Stores and Area Offices

Item Number | Quantity on Hand| Base Unit of Measure |Item Description
0642250 8,363 MT CABLE-QUADRUPLEX #4/0 AL
0648010 2,151 MT CABLE-CTRL 2/C#12 7STR.CU,600V C/W NYLON RIP CORD
0648014 1,345 MT CABLE-CTRL 4/C,#12 7STR.CU,600V C/W NYLON RIP CORD
0648018 3,354 MT CABLE-CTRL 12/C#12 7STR.CU,600V C/W NYLON RIP CRD
0648030 4,876 MT CABLE-CTRL 2/C,#8 7STR.CU,600V C/W NYLON RIP CORD
0648034 3,261 MT CABLE-CTRL 4/C,#8 7STR.CU,600V C/W NYLON RIP CORD
0649050 386 MT CABLE-METERING,14/C #12 SOL CU, 600V
0649055 320 MT CABLE-METERING,7/C #12 SOL CU, 600V
0651500 1,668 MT CABLE-XLPE,15KV 1/C #500MCM CU.
0654003 477 MT CABLE-SUBMAR;25KV,1/C,250KCMIL,CU.
0655040 16,237 MT CABLE-U/G PRIMARY, 15KV #1/0, 1/C
0655075 12,630 MT CABLE-U/G PRIMARY, 25KV #1/0, 1/C
0656104 3,439 MT CABLE-U/G TRIPLEX,#2 CU
0656108 323 MT CABLE-U/G TRIPLEX,#1/0 CU
0656112 2,299 MT CABLE-U/G TRIPLEX#4/0 CU
0657104 4,288 MT CABLE-U/G TRIPLEX #2 AL
0657108 5,381 MT CABLE-U/G TRIPLEX#1/0 AL
0660004 9 MT BUS BAR,COPPER,1/4"T. X2"W
0660007 21 MT BUS BAR,COPPER,3/8"T.X 3"W
0660010 15 MT BUS BAR,COPPER,3/16"T.X 5"W
0660050 21 MT BUS PIPE,HD.COPPER,1/2" IPS
0660053 178 MT BUS PIPE,HD.COPPER,3/4" IPS
0660056 41 MT BUS PIPE,HD.COPPER,1" IPS
0660062 42 MT BUS PIPE,HD.COPPER,1.50" IPS
0660065 89 MT BUS PIPE,HD.COPPER,2" IPS
0802012 25 EA BRAID-FLEX. CU,TYPE B,12"L.
0802015 24 EA BRAID-FLEX. CU,TYPEB,15"L.
0802024 23 EA BRAID-FLEX. CU,TYPE B,24"L.
0810110 43 EA CLAMP-BUS SUPP;CU for 4/0 - 1000MCM;3" BOLT CIRCLE
0810112 12 EA CLAMP-BUS SUPP;CU for #6 - 500 MCM;3" BOLT CIRCLE
0810114 43 EA CLAMP-BUS SUPP;CU for #6 - 500 MCM;5" BOLT CIRCLE
0810115 25 EA CLAMP-BUS SUPP;1.5"IPS,3"BOLT CIRCLE
0810210 14 EA CLAMP-BUS SUPP,4/0 -1000MCM; 5" BOLT CIRCLE
0810230 113 EA CLAMP-BUS SUPP, AL, #4/0-1000MCM, 3" BOLT CIRCLE
0810250 11 EA CLAMP-BUS SUPP, AL, #4/0-1000MCM, 5" BOLT CIRCLE
0812100 1,619 EA CLAMP-V.L.P.INSUL;#1/0-4/0 AL
0812120 639 EA CLAMP-V.L.P.INSUL;#477-715.5 AL
0812200 205 EA CLAMP-V.L.P.INSUL;#3-4/0 CU.
0812300 983 EA CLAMP-NEUTRAL 1/0 to 4/0 AASC
0814015 150 EA CLAMP-HOT LN,ALUM.BODY#1/0-477MCM
0814055 868 EA CLAMP-HOT LN,BRONZE BODY #6-#2/0CU
0816102 1,608 EA CLAMP-ST.LN.D.E #2-2/0 ALUM.
0816304 80 EA CLAMP-ST.LN.D.E,#4-2/0 CU,BRONZE
0816330 82 EA CLAMP-ST.LN.D.E,#3/0-500MCM CU.
0816333 33 EA CLAMP-ST.LN.D.E,#3/0-1000 CU.
0818140 129 EA CLAMP-SUSP #4/0 AASC - 266.8 ACSR
0818147 346 EA CLAMP-SUSP #397.5 ACSR-477 TO 715 ASC
0818200 25 EA Clamp-Corner Suspension
0818210 187 EA CLAMP-CR.SUSP #1/0-477 AASC/ASC
0818326 12 EA CLAMP-CR.SUSP, 266.8 ACSR




PUB-NP-235, Attachment A
Page 3 of 23

Newfoundland Power Spare Parts and Equipment Inventory

Central Stores and Area Offices

Item Number | Quantity on Hand| Base Unit of Measure |Item Description
0818339 3 EA CLAMP-CR.SUSP,#397.5 ACSR - 477 TO 715 ASC
0818404 10 EA CLAMP-OPEN SEAT SUSP,#4-2 CU,GALV.MALL.IRON
0818538 653 EA CLAMP-MESSANGER SUSP,3/8" GUY STRAND (for 5/8" bolts)
0818550 125 EA CLAMP - GROUND STRAND
0818570 11 EA CLAMP-SUSP.ASSY,0.H.GRD.WIRE,GALV,TYPE A
0819125 37 EA CLAMP-MID SPAN (NEUTRAL ATTACHMENT TYPE)
0820158 767 EA CLIP-GRD.WIRE BONDING,GALV., 5/8" BOLT HOLE
0820234 411 EA CLIP-GRD.WIRE BONDING,3/4" BOLT HOLE
0825102 56 EA DEADEND-COMPRESSION,#2AASC/ASCR
0825110 91 EA DEADEND-COMPRESSION,#1/0 AASC
0825111 60 EA DEADEND-COMPRESSION,#1/0 ACSR
0825120 20 EA DEADEND-COMPRESSION,#2/0 AASC/ACSR
0825140 76 EA DEADEND-COMPRESSION,#4/0 AASC
0825141 71 EA DEADEND-COMPRESSION,#4/0 ACSR
0825159 47 EA DEADEND-COMPRESSION,#559.5 AASC
0825266 96 EA COMP.D.E.ASSY;#266.8 ACSR PARTRIDGE, W/TERM
0825397 102 EA COMP.D.E.ASSY;#397.5 ACSR,W/TERM
0825477 70 EA DEADEND-COMPRESSION ASSY #477 ASC,WITH TERMINAL
0825478 10 EA COMP.D.E.ASSY;#477 ACSR,W/TERM
0825715 86 EA COMP.D.E.ASSY;#715.5 ASC,W/TERM
0830411 25 EA CONNECTOR-REPLACEMENT,(ELBOW) 1/0 ASC/CU CONC.
0830811 19 EA CONNECTOR-REPLACEMENT,(TERM.) 1/0 ASC/CU CONC.
0832014 1,696 EA CONNECTOR-SPLIT BOLT,CU #4 SOL.
0832022 1,403 EA CONNECTOR-SPLIT BOLT,CU #2 SOL.
0832110 2,764 EA CONNECTOR-SPLIT BOLT,CU #1/0 STR.
0832140 180 EA CONNECTOR-SPLIT BOLT,CU #4/0 STR.
0833050 100 EA CONNECTOR-2 BOLT, CU, 500 MCM
0833100 22 EA CONNECTOR-2 BOLT,CU,#1000 MCM
0834012 218 EA CONNECTOR-GROUND LUG,#12 SOL (STREETLIGHT)
0835010 20 EA CONNECTOR-BUS COUPLER, 1"-1"(TUBE TO TUBE)
0835012 8 EA CONNECTOR-BUS COUPLER, 1.25"-1.25"(TUBE TO TUBE)
0835015 10 EA CONN-BUS COUPLER,1.5" - 1.5" (TUBE TO TUBE)
0835115 16 EA CONN-BUS SUPP.EXP.COUPLER,1.5" TUBE,3" BOLT HOLE
0835215 33 EA CONN-BUS TERM;1.5"IPS,4 HOLE TERMINAL PAD
0838012 14 EA CONN-GRD,(GAR)#2/0-250-1.25" PIPE
0838020 17 EA CONN-GRD,(GAR)#2/0-250-2" PIPE
0838030 4 EA CONN-GRD,(GAR)#2/0-250-3" PIPE
0838130 33 EA CONN-GRD, TYPE GB,CABLE TO BAR,#2/0-250 CU
0838225 28 EA CONN-GRD, TYPE GCM,2 CABLES-BAR,#2/0-250 CU
0838325 18 EA CONN-GRD,BRAID-1.25" PIPE, TYPE GG
0838350 8 EA CONN-GRD,BRAID-1.5" PIPE, TYPE GG
0839100 565 EA CONNECTOR-WEDGE 1/0 TO #2 AASC
0839105 279 EA CONNECTOR - WEDGE 1/0 TO 1/0 AASC
0839115 121 EA CONNECTOR - WEDGE 477 TO 477 AASC
0839120 172 EA CONNECTOR - WEDGE 4/0 TO 1/0 AASC
0839122 29 EA CONNECTOR - WEDGE 4/0 TO 2/0 CU
0839125 108 EA CONNECTOR - WEDGE 4/0 TO 4/0 AASC
0839128 278 EA CONNECTOR - WEDGE 4/0 TO 266.8 AASC - ACSR
0839130 55 EA CONNECTOR - WEDGE 4/0 TO 477 AASC
0839132 114 EA CONNECTOR - WEDGE 2/0 to 2/0




PUB-NP-235, Attachment A
Page 4 of 23

Newfoundland Power Spare Parts and Equipment Inventory
Central Stores and Area Offices

Item Number | Quantity on Hand| Base Unit of Measure |Item Description
0839134 303 EA CONNECTOR - WEDGE 266.8 to 266.8 ACSR
0839135 17 EA CONNECTOR - WEDGE, 1/0 TO 4/0 AASC - 3/4" STUD
0839137 197 EA CONNECTOR - WEDGE, 4/0 TO 500 MCM / 3/4" GALV. ROD
0839200 35 EA WEDGES - 4/0 MCM CU TO 4/0MCM CU
0839202 111 EA WEDGES - 4/0 CU - 300 MCM
0839204 140 EA WEDGES - 4/0 CU TO 3/4" HOOK STUD
0839232 93 EA WEDGES - 300MCM CU TO 300MCM CU
0839234 64 EA WEDGES - 300MCM CU TO 3/4" HOOK STUD
0839235 45 EA WEDGES - 350MCM CU TO 4/0 CU
0839252 22 EA WEDGES - 500MCM CU TO 500MCM CU
0839253 67 EA WEDGES - 500MCM CU TO 350MCM CU
0839254 19 EA WEDGES - 500MCM CU TO 300MCM CU or 336 CU PADDLES
0839256 42 EA WEDGES - 500MCM CU TO 3/4" HOOK STUD
0839280 20 EA WEDGE - 1000MCM CU TO 1000MCM CU
0839282 15 EA WEDGE - 1000MCM CU TO 795 CU PADDLE
0839284 26 EA WEDGE - 1000MCM CU TO 500MCM CU
0839300 64 EA PADDLES - 336 CU STRAIGHT
0839395 40 EA PADDLE - 795 CU
0839400 128 EA STIRRUP - WEDGE, #2 AASC TO #2 CU BAIL
0839405 660 EA STIRRUP - WEDGE, 1/0 AASC TO 1/0 CU BAIL
0839410 200 EA STIRRUP - WEDGE, 4/0 AASC TO #2/0 CU BAIL
0839415 226 EA STIRRUP - WEDGE, 477 AASC TO 2/0 CU BAIL
0839500 1,825 EA SHELLS - BLUE, TO INSTALL AMPACT CONNECTORS
0839505 750 EA SHELLS - RED, TO INSTALL AMPACT CONNECTORS
0839510 526 EA SHELLS - WHITE, TO INSTALL AMPACT CONNECTORS
0839515 1,075 EA SHELLS - YELLOW, TO INSTALL AMPACT CONNECTORS
0840106 23 EA CONN-T,#6-500 CU. RUNN & TAP (CABLE TO CABLE)
0840175 11 EA CONN-T,#750-1000RUN,#1/0-300TAP (CABLE TO CABLE)
0840190 26 EA CONN-T #750-1000 CU.RUN & TAP (CABLE TO CABLE)
0840210 10 EA CONN-T,1" TUBE RUN & TAP (TUBE TO TUBE)
0840307 6 EA CONN-T,3/4"RUN,#1/0-4/0 TAP (TUBE TO CABLE)
0840321 13 EA CONN-T,1" RUN,#1/0-300TAP (TUBE TO CABLE)
0840332 7 EA CONN-T,1.25"RUN,#1/0-300 TAP (TUBE TO CABLE)
0840345 12 EA CONN-T,1.5" RUN,#300 TAP (TUBE TO CABLE)
0840355 14 EA CONN-T,1.5" RUN,#1000 TAP (TUBE TO CABLE)
0842005 4,550 EA CONNECTOR - INSULATION PIERCING (Street Lighting)
0844015 450 EA CRIMPIT-#4ACSR TO #4ACSR (CABELOK)
0844020 750 EA CRIMPIT-#2-#1/0AASC TO #2-#1/0AASC(CABELOK)
0844025 800 EA CRIMPIT-#2-#1/0AASC TO #4-#2ACSR(CABELOK)
0844035 925 EA CRIMPIT-#4-#2ACSR TO #2/0AASC/ACSR(CABELOK)
0844040 800 EA CRIMPIT-#1/0AASC-#2/0ACSR - #2/0AASC/ACSR(CABELOK)
0844050 2,145 EA CRIMPIT-#4-#2ACSR TO #4/0AASC/ACSR(CABELOK)
0844055 961 EA CRIMPIT-#1/0AASC-#2/0ACSR -#4/0AASC/ACSR (CABELOK)
0844060 384 EA CRIMPIT-#4/0AASC/ACSR TO #4/0AASC/ACSR (CABELOK)
0844065 180 EA CRIMPIT-#4-#2ACSR TO 266.8MCM-397.5MCM ASC
0844070 94 EA CRIMPIT-#2/0-#4/0AASC TO 266.8MCM-477MCM ASC
0844075 100 EA CRIMPIT-266.8-397.5MCM ASC TO 266.8-397.5MCM ASC
0844080 32 EA CRIMPIT-#4-#2ACSR TO 477MCM ASC(UNIVERSAL)
0844105 1,764 EA CRIMPIT-#6 SOL- #4 STR TO #4 SOL/STR
0848004 280 EA CONNECTOR-TRANSFORMER TANK GROUNDING




PUB-NP-235, Attachment A
Page 5 of 23

Newfoundland Power Spare Parts and Equipment Inventory

Central Stores and Area Offices

Item Number | Quantity on Hand| Base Unit of Measure |Item Description
0848160 64 EA CONN-UNIV,4 BOLT #1/0-1250 RUN & TAP,NEMA PAD
0848550 13 EA BELL-CORONA,1.5"TUBE,EXT.TYPE
0848608 350 EA CONNECTOR-WIRE,SCREW-ON,#8-12 COMBINATIONS
0848750 114 EA SHEAR BOLT CONNECTOR - 750 AL
0850108 135 EA ROD-GROUND,3/4" X 6'GALV.,TYPE 2,(20MM X 1800MM)
0850120 188 EA CONNECTOR-GROUND ROD,BRONZE(3/4" ROD TO 2/0 CU)
0850246 6 EA MAT-GROUNDING,GALV 40" X 6'0"
0854137 49 SE GUARD-PREF.LINE,#397.5 MCM ASC
0854139 440 SE GUARD-PREF. LINE,#477 MCM ASC
0854150 423 SE GUARD-PREF. LINE,#715.5 ASC (TML)
0854301 931 SE ROD-PREF. ARMOUR, SHORT, 1/0 AASC
0854304 94 SE ROD-PREF. ARMOUR, SHORT, 4/0 AASC
0854310 146 SE ROD-PREF. ARMOUR, SHORT, #2 ACSR/AASC
0854312 89 SE ROD-PREF. ARMOUR, SHORT, #2 CU SOLID
0854314 65 SE ROD-PREF. ARMOUR, SHORT, #4 CU SOLID
0854316 150 SE ROD-PREF. ARMOUR,SHORT, #6 CU SOLID
0854318 512 SE ROD-PREF. ARMOUR,SHORT, #8 CU SOLID
0854321 135 SE ROD-PREF. ARMOUR, SHORT, #1/0 CU STRANDED
0854322 66 SE ROD-PREF. ARMOUR, SHORT, #2 CU STRANDED
0854324 88 SE ROD-PREF. ARMOUR,#4 ACSR
0854327 44 SE ROD-PREF. ARMOUR,#397.5 ASC
0854344 119 SE ROD-PREF. ARMOUR,#2 ACSR/AASC
0854347 967 SE ROD-PREF. ARMOUR,#1/0 ACSR/AASC
0854354 100 SE ROD-PREF. ARMOUR,#2/0 ACSR/AASC
0854360 136 SE ROD-PREF. ARMOUR,#4/0 ACSR/IAASC
0854364 74 SE ROD-PREF. ARMOUR,#266.8 ACSR
0854376 146 SE ROD-PREF. ARMOUR; 397.5 ACSR 'IBIS' and 477 ASC 'COSMOS'
0854382 111 SE ROD-PREF. ARMOUR, #559.5 AASC
0858120 9 EA MOLD-CADWELD,"T" #2/0-#2/0
0858140 10 EA MOLD-CADWELD,"T" #4/0-#2/0
0858150 3 EA MOLD-CADWELD,"T" #4/0-#3/0
0858160 2 EA MOLD-CADWELD,"T" #4/0-#4/0
0858240 7 EA MOLD-CADWELD,"X" #4/0-#4/0
0858320 7 EA MOLD-CADWELD ,#2/0-3/4" ROD
0858325 8 EA MOLD-CADWELD ,#4/0-3/4" ROD
0858330 2 EA MOLD - CADWELD #2/0-5/8" ROD
0858340 3 EA MOLD-CADWELD,,#4/0-5/8" ROD
0858440 12 EA MOLD-CADWELD,#4/0-GRD. MAT (5/8 ROD)
0858442 4 EA MOLD-CADWELD,#4/0-GRD. MAT (3/4 ROD)
0858480 6 EA MOLD-CADWELD 2/0 TO 2/0 SPLICE
0858486 9 EA MOLD-CADWELD 4/0 TO 4/0 SPLICE
0858500 9 EA MOLD-CADWELD,2/0 TO 1-1/4" IPS C/W CLAMP
0858502 9 EA MOLD-CADWELD,2/0 TO 1-1/4" IPS HORZ. PIPE
0858510 12 EA MOLD-CADWELD 2/0 TO 2" IPS VERT. PIPE
0858515 10 EA MOLD-CADWELD 2/0 TO 3" IPS VERT. PIPE
0858520 EA MOLD-CADWELD 2/0 TO 4 1/2" IPS VERT. PIPE
0858530 EA MOLD-CADWELD 2/0 TO FLAT STEEL
0858535 EA MOLD-CADWELD 4/0 TO FLAT STEEL
0858540 22 EA MOLD-CADWELD for 300MCM CU to 2-HOLE LUG
0858542 8 EA MOLD-CADWELD for 500MCM CU to 2-HOLE LUG




PUB-NP-235, Attachment A
Page 6 of 23

Newfoundland Power Spare Parts and Equipment Inventory
Central Stores and Area Offices

Item Number | Quantity on Hand| Base Unit of Measure |Item Description
0858544 5 EA MOLD-CADWELD for 1000MCM CU to 2-HOLE LUG
0858546 4 EA MOLD-CADWELD, 4/0 CONC RUN TO 3/16 X 1" 2 HOLE LUG
0858550 18 EA JUMPER-CADWELD 2/0, 18"L. FLEXIBLE CU.
0858600 5 EA CHAIN-CADWELD FOR MOLD VVR-2G-V3
0858610 82 EA CADWELD 300MCM 2-HOLE LUG
0858615 89 EA CADWELD 500MCM 2-HOLE LUG
0858620 46 EA CADWELD 1000MCM 2-HOLE LUG
0858630 38 EA CADWELD 3/16" X 1" 2-HOLE STRAIGHT LUG
0858635 30 EA CADWELD 3/16" X 1" 2-HOLE OFFSET LUG
0858700 22 EA CADWELD MOLD SEALER
0858710 5 EA CADWELD HANDLES
0858715 5 EA CADWELD HANDLE for 1000MCM CADWELD MOLD
0858806 430 EA CARTRIDGE-CADWELD #65
0858809 85 EA CARTRIDGE-CADWELD,#90
0858811 153 EA CARTRIDGE-CADWELD,#115
0858815 87 EA CARTRIDGE-CADWELD,#150
0858820 203 EA CARTRIDGE-CADWELD #200
0858825 73 EA CARTRIDGE-CADWELD #250
0860030 1,000 EA SLEEVE-BUTT SPLICE #16-14AWG STR.CU (1000/BX)
0860040 500 EA SLEEVE-BUTT SPLICE #12-10 AWG STR.CU (500/BX)
0860050 750 EA SLEEVE-BUTT SPLICE #8 AWG STR.CU (200/BX)
0861008 146 EA SLEEVE-FULL TENS;CU,#8 SOL
0861016 144 EA SLEEVE-FULL TENS;CU #6 SOL
0861024 679 EA SLEEVE-FULL TENS;CU,#4 SOL
0861032 50 EA SLEEVE-FULL TENS;CU,#2 SOL
0861102 30 EA SLEEVE-FULL TENS;CU,#2 STR.
0861110 21 EA SLEEVE-FULL TENS;CU #1/0 STR.
0861120 15 EA SLEEVE-FULL TENS;CU #2/0 STR.
0861130 16 EA SLEEVE-FULL TENS;CU #3/0 STR.
0861140 20 EA SLEEVE-FULL TENS;CU,#4/0 STR.
0861300 91 EA SLEEVE-FULL TENS;CU,300 MCM STR
0861500 103 EA SLEEVE-FULL TENS;CU,500 MCM STR
0863400 17 EA SLEEVE-JUMPER 4/0AL-4/0CU.
0863477 94 EA SLEEVE-JUMPER #477MCM ASC
0865040 15 EA SLEEVE-JUMP/RED;#4/0 AL-3/0 CU
0865266 61 EA SLEEVE-JUMP/RED;#266.8 AL-3/0 CU
0865477 55 EA SLEEVE-JUMP/RED;#477 AL-300 CU
0865715 14 EA SLEEVE-JUMP/RED#715.5 AL-500 CU
0868012 200 EA SLEEVE-SERV.ENT.#6 TO #8 (INSULINK)
0868016 800 EA SLEEVE-SERV.ENT #6 TO #6 (INSULINK)
0868020 650 EA SLEEVE-SERV.ENT.#4 TO #8 (INSULINK)
0868024 680 EA SLEEVE-SERV.ENT.#4 TO #6 (INSULINK)
0868028 1,800 EA SLEEVE-SERV. ENT.#4 TO #4 (INSULINK)
0868032 1,084 EA SLEEVE-SERV.ENT.#2 TO #6 (INSULINK)
0868036 1,600 EA SLEEVE-SERV.ENT .#2 TO #4 (INSULINK)
0868040 2,825 EA SLEEVE-SERV.ENT.#2 TO #2 (INSULINK)
0868050 150 EA SLEEVE-SER.ENT #1/0 CU TO #6 ACSR ALP (INSULINK)
0868060 100 EA SLEEVE-SERV.ENT #1/0 TO #4ACSR ALP (INSULINK)
0868064 200 EA SLEEVE-SERV.ENT .#1/0 TO #2ASC ALP (INSULINK)
0868070 104 EA SLEEVE-SER.ENT #2/0 CU TO #4 ACSR ALP (INSULINK)




PUB-NP-235, Attachment A
Page 7 of 23

Newfoundland Power Spare Parts and Equipment Inventory

Central Stores and Area Offices

Item Number | Quantity on Hand| Base Unit of Measure |Item Description
0868075 155 EA SLEEVE-SER.ENT #2/0 CU TO #2 ASC ALP (INSULINK)
0868130 751 EA SLEEVE-SERV.ENT.#3/0 TO #4ASCR ALP (INSULINK)
0868132 1,400 EA SLEEVE-SERV.ENT.#3/0 TO #2ASC ALP (INSULINK)
0868160 60 EA SLEEVE-SER.ENT #4/0 AL TO #4 ACSR ALP (INSULINK)
0868302 57 EA SLEEVE-SER.ENT,300MCM CU-2ASC ALP /4ACSR
0868320 108 EA SLEEVE-SER.ENT,300MCM CU-2/0 ASC ALP/#1/0 ASCR
0868510 26 EA SLEEVE-SER.ENT,500CU-2/0 ASC ALP/#1/0 ACSR
0868520 29 EA SLEEVE-SER.ENT,500MCM CU. TO #2/0 ACSR ALP
0868540 80 EA SLEEVE-SER.ENT,500MCM CU-#4/0 ASC ALP
0870002 117 EA SLEEVE-HYSPLICE #2AASC, TRIPLEX NEUTRAL
0870004 98 EA SLEEVE-HYSPLICE #4ACSR, TRIPLEX NEUTRAL
0870006 156 EA SLEEVE-HYSPLICE #6ACSR, TRIPLEX NEUTRAL
0870102 52 EA SLEEVE-FULL TENS#2AASC/ACSR
0870104 64 EA SLEEVE-FULL TENS#4ACSR
0870107 160 EA SLEEVE-FULL TENS#2 ACSR SB TYPE 150 & 200
0870110 380 EA SLEEVE-FULL TENS,#1/0 AASC
0870115 35 EA SLEEVE-FULL TENS, #1/0 ACSR
0870120 253 EA SLEEVE-FULL TENS, #2/0 AASC
0870125 139 EA SLEEVE-FULL TENS, #2/0 ACSR
0870140 78 EA SLEEVE-FULL TENS, #4/0 ASC
0870143 166 EA SLEEVE-FULL TENS, #4/0 AASC
0870145 4 EA SLEEVES-FULL TENS, #4/0 ACSR
0870266 97 EA SLEEVE-TENS;AL #266.8 ACSR PARTRIDGE (TJA-107)
0870397 27 EA SLEEVE-FULL TENS,#397.5 MCM ASC
0870399 82 EA SLEEVE-TENS;AL,#397.5 ACSR (TJA-118)
0870477 81 EA SLEEVES-FULL TENS #477 MCM ASC
0870479 25 EA SLEEVES-TENS;AL,#477 ACSR (TJA-12T)
0870559 50 EA SLEEVES-FULL TENS, #559.5 AASC
0870715 88 EA SLEEVE-TENS;AL,#715.5 ASC
0874014 33 EA SLEEVE-U/G SPLICING,#4 ASC
0874016 73 EA SLEEVE-U/G SPLICING, # 6 ASC
0874022 59 EA SLEEVE-U/G SPLICING,#2 ASC
0874034 38 EA SLEEVE-U/G SPLICING,#4 STR. CU
0874036 145 EA SLEEVE-U/G SPLICING,#6 STR. CU
0874110 28 EA SLEEVE-U/G SPLICING,#1/0 ASC
0874140 19 EA SLEEVE-U/G SPLICING,4/0 ASC
0874210 29 EA SLEEVE-U/G SPLICING, 1/0 CU. CPT.
0874220 30 EA SLEEVE-U/G SPLICING, 2/0 CU. CPT.
0874504 27 EA SLEEVE-U/G,JUM/RED,#4AL - #6CU
0874512 22 EA SLEEVE-U/G,JUM/RED,#2AL - #4CU
0874610 40 EA SLEEVE-U/G,JUM/RED,#1/0 - 2CU
0874640 13 EA SLEEVE-U/G,JUM/RED,4/0AL - 1/0CU
0876038 9 EA SLEEVE-TENSION,3/8" GUY STR.
0880040 47 EA TERMINAL-JUMPER #4/0 AASC
0880266 52 EA TERM-COMP.JUMP;#266.8 ACSR
0880477 24 EA TERMINAL-JUMPER #477 MCM ASC
0880559 39 EA TERMINAL-JUMPER #559.5 AASC
0880715 91 EA TERM-COMP.JUMP;#715.5 ASC
0880903 132 EA TERMINAL-JUMPER #3/0 CU.
0880930 109 EA TERMINAL-JUMPER,#300 MCM CU




PUB-NP-235, Attachment A
Page 8 of 23

Newfoundland Power Spare Parts and Equipment Inventory
Central Stores and Area Offices

Item Number | Quantity on Hand| Base Unit of Measure |Item Description
0881140 35 EA TERMINAL-QUIKLUG,#3/0-4/0 CU,STR,2 HOLE NEMA PAD
0881210 88 EA TERMINAL-SCRULUG,#4-1/0 STR.CU,1 HOLE PAD
0881240 94 EA TERMINAL-SCRULUG,#1/0-4/0 STR. CU,1 HOLE PAD
0881250 148 EA TERMINAL-SCRULUG,#4/0-500 STR. CU,1 HOLE PAD
0881300 743 EA SLEEVE-SEALING,SERV. ENT. BUS
0881313 413 EA SECONDARY CONNECTOR BUS - 3 PORTS
0881314 120 EA SECONDARY CONNECTOR BUS - 4 PORTS
0881315 26 EA SECONDARY CONNECTOR BUS - 5 PORTS
0881404 12 EA TERMINAL-LUG,1 HOLE #1/0-4/0 STR. CU.
0881435 11 EA TERMINAL - LUG, 2 HOLE 300-500 MCM CU.
0881600 34 EA TERMINAL-UNIV,1 HOLE #2-600 MCM STR. AL/CU,2/C
0881602 42 EA TERMINAL-UNIV,2HOLE #2-600 MCM STR. AL/CU,2/C
0881604 1,000 EA TERMINAL-UNIV #4STR-500 MCM, AL/CU,2/C
0881607 60 EA TERMINAL-UNIV, 300 MCM - 800 MCM, AL/CU,2/C
0882010 3,055 EA TERM.-PIN;#1/0 AASC
0882020 250 EA TERM.-INSUL. PIN;#2/0 AASC
0882040 419 EA TERM.-INSUL.PIN;#4/0 ASC
0882050 150 EA TERM.-INSUL. PIN; 1/0 ACSR ALPAC / 2/0 ASC ALPAC
0882052 191 EA TERM.-INSUL. PIN; #2 ASC ALPAC/#4ACSR ALPAC
0882054 149 EA TERM.-INSUL. PIN; #4 ASC ALPAC
0882056 120 EA TERM.-INSUL. PIN; #6 ASC/ACSR ALPAC
0882500 21 EA TERM-INSUL.PIN;#500MCM CPT
0882502 27 EA TERM-INSUL.PIN;#500MCM STR.
0886006 268 EA TERM-TRANSF.SPADE #6 ASC/ACSR ALP
0886014 298 EA TERM-TRANSF.SPADE #4 ASC/ACSR ALP
0886022 550 EA TERM-TRANSF.SPADE #2 ASC ALP
0886110 225 EA TERM-TRANSF;#1/0 ACSR/AASC ALP,2/0 ASC ALP
0886120 150 EA TERM-TRANSF.SPADE;#2/0 AASC/ACSR ALP
0886140 1,860 EA TERM-TRANSF.SPADE;#4/0 ASC/CU
0886300 202 EA TERM.-TRANSF.SPADE;#300MCM
0886500 242 EA TERM-TRANSF.SPADE;#500 MCM
0886750 60 EA TERM-TRANSF.SPADE;#750 KCMIL
0890004 18 EA TERMINAL-BLOCK,4 CIR,SHORT CIRCUIT TYPE
0890006 5 EA TERMINAL-BLOCK,6 CIR,SHORT CIRCUIT TYPE
0890110 19 EA RAIL-MOUNTING TERMINAL BLOCK, STEEL 2M LENGTH
0890111 175 EA TERM-BLOCK,W/ 2 X M5 DBL NUTTED STUDS,W/ MARKER
0892040 6 EA T-TAP -#4/0 AASC/ACSR
0892266 29 EA T-TAP -#266.8 ACSR
0892477 21 EA T-TAP -#477 MCM ASC
0896140 EA COMPOUND-OXIDE INHIBITOR,1GL CAN (JOINTING)
0897233 EA LUBRICANT-(DC33),ANTI-FRICTION BEARINGS
0897308 14 EA LUBRICANT-(CONDUCTO-LUBE),FOR LIVE SWITCH PARTS
1220001 251 PE CONDUIT-RIGID PVC, 1", 10' LENGTH
1220002 22 PE CONDUIT-RIGID PVC, 2", 10' LENGTH
1220111 24 EA COUPLING-PVC CONDUIT, 1"
1220122 22 EA COUPLING-PVC CONDUIT,2"
1220132 70 EA JOINT-PVC EXPANSION,2" CONDUIT
1220211 14 EA ADAPTER-PVC FEMALE,1"
1220222 18 EA ADAPTER-PVC FEMALE,2"
1220231 140 EA SERVICE ENTRANCE FITTING - 1" PVC WEATHERHEAD




PUB-NP-235, Attachment A
Page 9 of 23

Newfoundland Power Spare Parts and Equipment Inventory
Central Stores and Area Offices

Item Number | Quantity on Hand| Base Unit of Measure |Item Description
1220251 10 EA ADAPTER-PVC TERM,(MALE),1"
1220262 45 EA ADAPTER-PVC TERM,(MALE),2"
1220444 36 EA BOX-PVC JUNCTION,4" X 4" X 4"
1220466 5 EA BOX-PVC JUNCTION, 6" X 6" X 4"
1220511 44 EA ELBOW-PVC CONDUIT 45 DEG X 1"
1220522 10 EA ELBOW-PVC CONDUIT 45 DEG X 2"
1220551 56 EA ELBOW-PVC CONDUIT,90 DEG X 1"
1220562 20 EA ELBOW-PVC CONDUIT,90 DEG X 2"
1220611 24 EA FITTING-PVC ACCESS, TYPE LB,1"
1220622 4 EA FITTING-PVC ACCESS, TYPE LB,2"
1220641 21 EA FITTING-PVC ACCESS, TYPE LL,1"
1220671 43 EA FITTING-PVC ACCESS, TYPE LR,1"
1220722 3 EA FITTING-PVC SERV.ENT.,2"
1220811 78 EA LOCKNUT-FOR PVC,1"
1220822 53 EA LOCKNUT-FOR PVC,2"
1232002 1,034 PE DUCT-PVC,TYPE DB2,BELL END, 2", 10' LENGTH
1232014 47 PE DUCT-PVC,TYPE DB2,BELL END, 4",10' LENGTH
1232025 75 PE DUCT-PVC,TYPE EB1,BELL END,5",10LENGTH
1232202 72 EA COUPLING-PVC DUCT,2",SOLVENT WELD
1232214 19 EA COUPLING-PVC DUCT 4",SOLVENT WELD
1232225 2 EA COUPLING-PVC DUCT,5",SOLVENT WELD
1232314 12 EA BEND-PVC DUCT,5 DEG X 4"
1232332 43 EA BEND-PVC DUCT,45 DEG X 2", 36"RAD
1232344 21 EA BEND-PVC DUCT,45 DEG X 4",36"RAD
1232362 225 EA BEND-PVC DUCT,90 DEG X 2",36"RAD
1232374 51 EA BEND-PVC DUCT,90 DEG X 4",36"RAD
1232385 20 EA BEND-PVC DUCT,90 DEG X 5",42"RAD
1232422 126 EA BELL END-PVC DUCT,2" SOLVENT WELD
1232424 7 EA BELL END-PVC DUCT 4",SOLVENT WELD
1232502 39 EA CAP-END,PVC DUCT,2",SOLVENT WELD
1232514 18 EA CAP-END,PVC DUCT 4",SOLVENT WELD
1232525 34 EA CAP-END,PVC DUCT,5",SOLVENT WELD
1232704 240 EA SPACER-DUCT 4"x3"x3"x4", 2 WAY
1240136 22 EA COVER-MANHOLE,36" DIAMETER
1240137 15 EA FRAME-MANHOLE,TO FIT 36" DIAMETER COVER
1240501 EA IRONS-U/G CABLE "PULLING-IN"
1504746 EA ARM-SUSP.GALV;4'6"L.(FOR 58L)
1504756 EA ARM-SUSP,GALYV; 5'6"L.(FOR 58L)
1508046 35 EA ARM-SUSP, TAPERED,4'6"L,CURVED LAMINATED WOOD
1508056 10 EA ARM-SUSP, TAPERED,5'6"L,CURVED LAMINATED WOOD
1510017 18 EA X-ARM,SUB,4 3/4" X 5 3/4" X 17 ,PENTA TREATED
1510082 35 EA X-ARM,2 PIN,95mm X 120mm X 2100mm
1510118 15 EA X-ARM,4 PIN,95mm X 120mm X 3000mm
1512082 1,012 EA X-ARM,2 PIN,102mm X 127mm X 2100mm,CCA Treated
1512118 79 EA X-ARM,4 PIN,102mm X 127mm X 3000mm,CCA Treated
1512496 70 EA X-ARM, ALLEY,102x127x2438, CCA TREATED
1515008 179 EA X-ARM,TML,2 PIN,5"X6"X80",PENTA TREATED
1515111 89 EA X-ARM,TML DE & ANG;4"X8"X11'6",PENTA TREATED
1515115 40 EA X-ARM,TML DE & ANG;4"X8"X15'%6",PENTA TREATED
1515122 53 EA X-ARM, TML TANGENT,4"X8"X22'0",PENTA TREATED




PUB-NP-235, Attachment A
Page 10 of 23

Newfoundland Power Spare Parts and Equipment Inventory
Central Stores and Area Offices

Item Number | Quantity on Hand| Base Unit of Measure |Item Description
1515205 8 EA X-ARM,TML DE & ANG;4"X9"X15'0",PENTA TREATED
1515210 34 EA X-ARM, TML TRANSPO,4"X9"X15'0",PENTA TREATED
1515220 16 EA X-ARM,TML DE & ANG;4"X9"X20'0",PENTA TREATED
1515232 2 EA X-ARM,TML TRANSPO,4"X9"X22'0"
1515243 13 EA X-ARM,TML DE & ANG;4"X9"X24'PENTA TREATED
1515259 25 EA X-ARM, TML TANGENT,4"X9"X29'0",PENTA TREATED
1515522 19 EA X-ARM, TML TANGENT,5"X9"X22'0",PENTA TREATED
1515622 70 EA X-ARM, TML TANGENT,5"X10"X22'0",PENTA TREATED
1515629 12 EA X-ARM, TML TANGENT,5"X10"X29'0",PENTA TREATED
1520116 176 EA X-BRACE, TML,4"X6"X16'0",PENTA TREATED
1520121 146 EA X-BRACE, TML,4"X6"X21'0",PENTA TREATED
1520326 10 EA X-BRACE, TML,5"X6"X26'0",PENTA TREATED
1540568 32 EA TIMBER-CRIB,TML,5"X6"X8'0", CCA TREATED
1550016 EA TIMBER-3-3/4"X4-3/4"X16'0",U/T DRESSED DGLS FIR
1808100 EA ASSY-POLE BAND,3-WAY,FOR DEADENDING O.H.G.W.
1808334 12 EA ASSY-POLE BAND,2-WAY,FOR DEADENDING COND.
1808456 6 EA ASSY.-POLE TOP SPLIT BAND,(8.5"-11" D. POLE)
1808700 92 EA ROLLER-GUY FOR POLE BAND ASSY.
1810510 256 EA BOLT-B.L.E.3/4" X 10",GALV,6" THD.
1810512 299 EA BOLT-B.L.E.,;3/4" X 12",GALV,6" THD.
1810514 84 EA BOLT-B.L.E.,3/4" X 14",GALV,6" THD.
1810516 81 EA BOLT-B.L.E.,3/4" X 16",GALV,6" THD.
1812245 399 EA BOLT-CARRIAGE,3/8" X 4-1/2",GALV.,1"THD.
1813418 371 EA BOLT-D.A.,5/8" X 18",GALV,FULL THD.
1813420 298 EA BOLT-D.A.,5/8" X 20",GALV,FULL THD.
1813422 492 EA BOLT-D.A.,5/8" X 22",GALV,FULL THD.
1813424 93 EA BOLT-D.A.,5/8" X 24",GALV,FULL THD.
1813518 242 EA BOLT-D.A.,3/4" X 18",GALV,FULL THD.
1813520 601 EA BOLT-D.A.,3/4" X 20",GALV,FULL THD.
1813522 122 EA BOLT-D.A.,3/4" X 22",GALV,FULL THD.
1813524 116 EA BOLT-D.A.,3/4" X 24",GALV,FULL THD.
1813526 10 EA BOLT-D.A.,3/4" X 26",GALV,FULL THD.
1813528 36 EA BOLT-D.A.,3/4" X 28",GALV,FULL THD.
1815175 193 EA BOLT-MACH.,5/16"X1-1/2",GALV,HEX.HD,C/W NUT
1815301 850 EA BOLT-MACH.,1/2" X 1-1/4" GALV.OR SS.,HEX HD.1"THD.
1815302 4,380 EA BOLT-MACH.,1/2" X 2",GALV,HEX.HD,1.25"THD.
1815303 214 EA BOLT-MACH.,1/2" X 3",GALV,HEX.HD,1.25"THD.
1815307 1,745 EA BOLT-MACH., 1/2" x 7", GALV., 4" THD
1815308 800 EA BOLT-MACH.,1/2" X 8",GALV,4" THD.
1815312 28 EA BOLT-MACH.,1/2" X 12",GALV,6" THD.
1815400 464 EA BOLT-MACH.,5/8"X1-1/4"GALV.OR SS.,HEX HD.1.25"THD.
1815401 481 EA BOLT-MACH 5/8"X1 1/2"AFTER GALV.
1815402 25 EA BOLT-MACH.,5/8" X 2",GALV,1.5" THD.
1815406 328 EA BOLT-MACH.,5/8" X 6",GALV,3" THD.
1815410 959 EA BOLT-MACH.,5/8" X 10",GALV,6" THD.
1815412 5,639 EA BOLT-MACH.,5/8" X 12",GALV,6" THD.
1815414 2,932 EA BOLT-MACH.,5/8" X 14",GALV,6" THD.
1815416 436 EA BOLT-MACH.,5/8" X 16",GALV,6" THD.
1815418 227 EA BOLT-MACH.,5/8" X 18",GALV,6" THD.
1815420 314 EA BOLT-MACH.,5/8" X 20",GALV,6" THD.




PUB-NP-235, Attachment A
Page 11 of 23

Newfoundland Power Spare Parts and Equipment Inventory
Central Stores and Area Offices

Item Number | Quantity on Hand| Base Unit of Measure |Item Description
1815422 212 EA BOLT-MACH.,5/8" X 22",GALV,6" THD.
1815424 28 EA BOLT-MACH.,5/8" X 24",GALV,6" THD.
1815502 54 EA BOLT-MACH.,3/4" X 2",GALV,1.5" THD.
1815503 60 EA BOLT-MACH.,3/4" X 3",GALYV, 2 3/4" THD
1815508 462 EA BOLT-MACH.,3/4" X 8",GALV,6" THD.
1815510 116 EA BOLT-MACH.,3/4" X 10",GALV,6" THD.
1815512 660 EA BOLT-MACH.,3/4" X 12",GALV,6" THD.
1815514 192 EA BOLT-MACH.,3/4" X 14",GALV,6" THD.
1815516 444 EA BOLT-MACH.,3/4" X 16",GALV,6" THD.
1815518 218 EA BOLT-MACH.,3/4" X 18",GALV,6" THD.
1815520 178 EA BOLT-MACH.,3/4" X 20,GALV,6" THD.
1815522 72 EA BOLT-MACH.,3/4" X 22",GALV,6" THD.
1815524 138 EA BOLT-MACH.,3/4" X 24",GALV,6" THD.
1815526 113 EA BOLT-MACH.,3/4" X 26",GALV,6" THD.
1815528 93 EA BOLT-MACH.,3/4" X 28",GALV,6" THD.
1816410 367 EA BOLT-OVAL EYE, 5/8" X 10", 6" THD.
1816412 1,177 EA BOLT-OVAL EYE, 5/8" X 12", 6" THD.
1816414 48 EA BOLT-OVAL.EYE, 5/8" X 14",GALV,6" THD.
1816512 274 EA BOLT-OVAL EYE, 3/4" X 12",GALV,6" THD.
1816514 165 EA BOLT-OVAL EYE, 3/4" X 14",GALV,6" THD.
1816516 105 EA BOLT-OVAL EYE, 3/4" X 16",GALV,6" THD.
1819005 36 EA BOLT-SILICON BRONZE,5/16" X 1 3/4", PENTA HEAD
1819015 101 EA BOLT-SILICON BRONZE,3/8" X 1 1/2',HEX HEAD
1819030 222 EA BOLT-SILICON BRONZE,3/8" X 3",HEX HEAD
1819110 112 EA BOLT-SILICON BRONZE,7/16" X 1",HEX HEAD
1819210 277 EA BOLT-SILICON BRONZE,1/2" X 1",HEX HEAD
1819215 24 EA BOLT-SILICON BRONZE,1/2" X 1-1/2",HEX HEAD
1819235 98 EA BOLT-SILICON BRONZE,1/2" X 3-1/2",HEX HEAD
1819307 684 EA BOLT-S.S.,3/8" X 3/4", HEX HD.
1819310 1,056 EA BOLT-SILICONE BRONZE, 3/8" X 1", HEX HEAD
1819315 163 EA BOLT-S.S.,3/8" X 1-1/2",HEX.HD.
1819410 1,055 EA BOLT-S.S.,1/2" X 1" HEX HEAD
1819855 107 EA BOLT-TAMPERPROOF,1/2" X 1-3/4, Silcon Bronze
1819935 136 EA BOLT-MACH.,5/8" X 3-3/4",GALV.
1820005 31 EA BRACE-ALLEY ARM,W/STEP,5'0"L
1820248 168 EA BRACE-ANGLE V CROSSARM,48" SPAN
1820260 100 EA BRACE-ANGLE-V CROSSARM,60" SPAN
1820530 2,882 EA BRACE-FLAT CROSSARM,28"L
1823100 312 EA BRACKET-ARRESTOR MOUNTING,(7"L)
1823101 404 EA PLATE-BACKING,ARRESTOR MTG.BRKT.(7"L) C/W bolts
1823103 90 EA BRACKET-EQUIPMENT MOUNTING, (14"L)
1823105 45 EA BRACKET-CUTOUT,XARM MTG; 5"EXT.
1823108 438 EA BRACKET-CUTOUT,POLE MTG,8"EXT.
1823175 117 EA BRACKET-CUTOUT STANDOFF INSULATOR
1823180 75 EA BRACKET-MID SPAN SECONDARY
1823239 128 EA BRACKET-STAND-OFF INSULATOR 9" EXT, GALV
1823245 6 EA BRACKET-STANDOFF ASSEMBLY, 39"
1823303 1,189 EA BRACKET-POLE TOP,35KV V.L.P. INSULATOR
1823306 297 EA BRACKET-POLE TOP,66KV V.L.P. INSULATOR
1823315 32 EA BRACKET-SIDE ANGLE,GALV,66KV




PUB-NP-235, Attachment A
Page 12 of 23

Newfoundland Power Spare Parts and Equipment Inventory
Central Stores and Area Offices

Item Number | Quantity on Hand| Base Unit of Measure |Item Description
1823325 36 EA BRACKET-LIGHT DUTY CORNER BRACKET[HOT DIPPED GALV]
1823327 15 EA BRACKET-CRN.CONST;X-ARM MTG,5/8" D.,W/ TOWER EYE
1823345 8 EA BRACKET-SWINGING ANGLE,15"
1823348 10 EA BRACKET-SWINGING ANGLE,21"
1823360 2 EA BRACKET-EXT.ARM;HORZ/VERT.LN.PST.INSUL.
1823390 24 EA BRACKET-YOKE PLATE,V-STRING
1823395 35 EA BRACKET - YOKE PLATE, GUY
1823413 54 EA BRACKET-TRANSF.CLUST.MTG,3 UNIT
1823520 EA PLATE-TRANSF.VERT.ADAPTER
1823608 EA PLATFORM-TRANSF.MTG;Regular Duty; CAP;ALUM 16' FT.
1823618 EA PLATFORM-H.D.TRANSF.MTG;Heavy duty; CAP;ALUM,16 FT
1825010 1,420 EA CLEVIS-SECONDARY SPOOL(CHANNEL TYPE)
1825103 68 EA CLEVIS-BALL;3-7/8"L;GALV,25000LB RATING
1825202 144 EA CLEVIS-BALL SKT;2-1/2"L;GALV,25000LB RATING
1825204 79 EA CLEVIS-BALL SKT;4-1/2"L;GALV.
1825210 126 EA CLEVIS-BALL SKT;10"L;GALV,25000LB RATING
1825270 41 EA CLEVIS-CLEVIS,GALV,4"L
1825275 15 EA CLEVIS -CLEVIS, 90 DEGREE
1825277 182 EA CLEVIS - THIMBLE
1825280 5 EA CLEVIS-DOUBLE EYE, GALV.
1825310 276 EA CLEVIS-Y-BALL H.L.;10"L, 25000LB RATING
1825320 48 EA CLEVIS-Y-BALL 3 1/2" for 138KV
1825383 21 EA CLEVIS-TONGUE,3"L, 15000LB RATING
1825402 168 EA TONGUE-BALL SKT;2-1/2"L,25000LB RATING
1825410 186 EA TONGUE-BALL SKT;10"L;GALV,25000LB RATING
1825500 33 EA CLEVIS-BOLT HEAD,GALV.
1825610 786 EA LINK-EXT;CLEVIS-TONGUE,10"L,GALV
1825722 175 EA LINK-EXT;(CHAIN),1/2"D.X 2-1/4"L.X 7/8"W,GALV
1825733 90 EA LINK-EXT;(TOWER),5/8"D.X 3-3/4"L.X 1"W,GALV
1825782 24 EA EYE-TOWER,W/BALL,2-1/32"L, 25000LB RATING,GALV.
1825788 9 EA TEE - POLE EYE
1825790 27 EA SHACKLE-GALV,3/4"D.X 3-1/2"L.X 7/8"W.
1828038 15 EA DAMPER-VIBRATION;FOR 3/8" GUY STRAND
1828140 10 EA DAMPER-VIBRATION;#4/0 AASC
1828266 73 EA DAMPER-VIBRATION;#4/0 & 266.8 ACSR
1828267 66 EA DAMPER-VIBRATION;#266.8 ACSR,"STOCKBRIDGE"
1828397 54 EA DAMPER-VIBRATION;#397.5
1828559 30 EA DAMPER-VIBRATION;#559.5
1829100 49 EA PLATE-SET DOUBLE ARMING, GALV
1829200 44 SE HANGER-DOUBLE ARMING SET, GALV.
1831101 90 EA GUARD-CABLE PLAIN, 1 1/4" X 8' 0"
1831103 25 EA GUARD-CABLE,PLAIN, 3 3/4" X 8' 0"
1831133 31 EA GUARD-CABLE,FLARED, 3 3/4" X 80"
1831135 2 EA GUARD-CABLE,FLARED FOR 5"DUCT,3-3/4" X 80"
1831408 1,540 EA GUARD-WOOD GRD. WIRE
1831702 1,122 EA GUARD-PLASTIC GUY,80"YELLOW
1835155 2,422 EA HOOK-DRIVE,7/16" X 5-1/2"
1835200 1,970 EA HOOK-GUY
1835220 33 EA HOOK-GUY; (STEEL POLES)
1838104 1,106 EA NUT-SQUARE,GALV,5/8"




PUB-NP-235, Attachment A
Page 13 of 23

Newfoundland Power Spare Parts and Equipment Inventory
Central Stores and Area Offices

Item Number | Quantity on Hand| Base Unit of Measure |Item Description
1838105 289 EA NUT-SQUARE,GALV,3/4"
1838204 486 EA NUT-OVAL EYE,GALV,5/8"
1838205 62 EA NUT-OVAL EYE,GALV,3/4"
1838305 36 EA NUT-BALL LINK EYE,GALV,3/4"
1838404 3,758 EA NUT-LOCK,GALV,5/8"
1838405 1,511 EA NUT-LOCK,GALV,3/4" (SQ.ARCHED TYPE) 100 PER PKG.
1838503 805 EA PALNUT - (LOCKNUT),GALV,1/2" (HOLLOW TYPE)
1838802 765 EA NUT-HEX,SILICON BRONZE,3/8"
1838803 560 EA NUT-1/2" HEX,SILICON BRONZE
1838902 846 EA NUT-HEX,STAINLESS STEEL,3/8"
1840450 3,101 EA STUD-SLOTTED,1/2"X2-1/4" GALV. OR S.S.
1840460 907 EA STUD-SLOTTED,5/8"X2-1/2" GALV. OR S.S.
1840501 1,669 EA STUD-SHORT,V.L.P.INSUL.MTG,3/4"D,FOR P.T.BRKT.
1840506 1,513 EA STUD-LONG,V.L.P.INSUL.MTG,3/4"D,FOR 6" X-ARM
1840600 104 EA STUD - 3/4" HOOK
1840605 44 EA CLAMP - 3/4" HOOK STUD C/W 2 HOLE NEMA STUDS
1840610 162 EA STUD - 3/4" PARKING, FOR STUD DISC. AMPACT CONN.
1844003 300 EA DEADEND-PREFORMED #6 ACSR INS
1844006 2,100 EA DEADEND-PREFORMED.#4 ACSR INS
1844022 1,350 EA DEADEND-PREFORMED,,#2 ACSR XLPE INS,W/CABLED LOOP
1844110 631 EA DEADEND-PREFORMED,#2/0 ACSR XLPE INS
1844120 123 EA DEADEND-PREFORMED,#2/0 ACSR/AASC WP188
1844140 440 EA DEADEND-PREFORMED #4/0 ASC/CU WP
1844150 104 EA DEADEND-PREFORMED,#500 MCM CU WP
1844212 200 EA DEADEND-PREFORMED, #2 AASC BARE(Special Use)
1844214 200 EA DEADEND-PREFORMED, #4 AASC BARE (Special Use)
1844220 100 EA DEADEND-PREFORMED, #2/0 AASC BARE
1844240 100 EA DEADEND-PREFORMED. #4/0 AASC BARE(Special Use)
1844438 4,613 EA DEADEND-PREFORM GUY GRIP, 3/8"
1844450 18 EA DEADEND-PREFORM. GUY GRIP,1/2", CABLED LOOP
1844638 132 EA SPLICE-PREFORMED GUY 3/8"
1846058 95 EA ROD-CRIB FASTENING,5/8" X 5'0" (TML)
1847112 9,300 EA STAPLE-GRD.WIRE,(FENCE)3/8" X 1-1/2" GALV.
1847120 6,418 EA STAPLE-GRD.WIRE GUARD,11/16" X 2",GALV
1847210 384 EA PIN-COTTER,S.S.(5/8"-3/4"D. BOLTS)
1847522 22 EA SCREW-LAG,GALV.1/4" X 2-1/2"
1847534 2,840 EA SCREW-LAG,GALYV 1/2" X 4"
1849056 10 EA FITTING-POLE,SIDEWALK GUY ASSY.
1849200 47 MT PIPE-GALV.STEEL,2",AS PER SCHD.40;21'LGTH.
1850010 4,800 EA STRAP-D.G."SPECIAL",GALV.
1850110 213 EA STRAP-PIPE,GALV;1" X 1 HOLE
1850120 72 EA STRAP-PIPE,GALV;1" X 2 HOLE
1850210 481 EA STRAP-PIPE,PVC, 2 HOLE,1"
1850211 37 EA STRAP-CABLE GUARD, 2 HOLE, 1 1/4"
1850220 348 EA STRAP-PIPE,PVC;2" X 2 HOLE
1850233 288 EA STRAP-CABLE GUARD, 2 HOLE, 3 3/4"
1850358 660 EA STRAP - REINFORCING, GALV., 5/8" BOLT
1860121 11,795 EA WASHER-SQ;2-1/4",11/16" HOLE,GALV.
1860130 1,772 EA WASHER-SQ;3",13/16" HOLE,GALV.
1860140 877 EA WASHER-SQ;4",13/16" HOLE, GALV.




PUB-NP-235, Attachment A

Page 14 of 23

Newfoundland Power Spare Parts and Equipment Inventory
Central Stores and Area Offices

Item Number | Quantity on Hand| Base Unit of Measure |Item Description
1860231 1,760 EA WASHER-CURV;3-1/8",13/16" HOLE, GALV.
1860240 1,306 EA WASHER-CURV;4"x4"x1/4", 13/16" HOLE, GALV
1860246 124 EA WASHER-CURV;4",1-1/16" HOLE, GALV.
1860302 1,674 EA WASHER-FLAT,5/16" GALV
1860313 2,184 EA WASHER-RD,1-3/8"0D,9/16" HOLE, GALV.
1860402 518 EA WASHER-LOCK,5/16" GALV.(SPLIT TYPE)
1860405 1,875 EA WASHER-LOCK,1/2"GALV,(SPLIT TYPE)
1860406 443 EA WASHER-LOCK,5/8"GALV,(SPLIT TYPE)
1860603 1,296 EA WASHER-FLAT,3/8" SILICON BRONZE
1860605 524 EA WASHER-FLAT, 1/2" SILICON BRONZE
1860653 977 EA WASHER-LOCK,3/8" SILICON BRONZE (SPLIT TYPE)
1860655 415 EA WASHER-LOCK,1/2"SILICONE BRONZE(SPLIT TYPE)
1860803 1,632 EA WASHER-FLAT,S.S., 3/8"
1860853 1,033 EA WASHER-LOCK (SPLIT),S.S.,3/8"
1860890 5,218 EA WASHER-BELLEVILLE,S.S
1875605 33 EA COMPOUND-SILICONE,5.3 OZ TUBE,INSULATOR DIELECTRIC
2105024 56 EA INSULATOR-GUY STR.ROD,CLV-CLV FITTING
2105048 43 EA INSULATOR-GUY STR.ROD,CLV-TONGUE FITTING
2115455 2,339 EA INSULATOR-SPOOL,3"H. X 3-1/8"D.,11/16"HOLE
2120015 126 EA INSULATOR-STN.POST,15KV,110KV BIL.
2120025 78 EA INSULATOR-STN. POST,25 KV,150KV BIL.
2124070 254 EA INSULATOR-CUTOUT STANDOFF,PORC, TR202
2125025 326 EA INSULATOR-POLY RISER SUPPORT 28KV c/w ALUM CONDUCTOR CLAMP
2128069 107 EA INSULATOR-STN.POST,69KV,350BIL.
2128138 27 EA INSULATOR-STN.POST,138KV,650KV BIL.
2135006 2,127 EA INSULATOR-SUSP;5-1/2" X 6" CLEVIS TYPE
2135015 4,534 EA INSULATOR-SUSP;10"D,15000LB, BALL/SKT.TYPE
2135025 2,915 EA INSULATOR-SUSP;10"D,25000LB, BALL/SKT.TYPE
2135116 16 EA INSULATOR-SUSP- POLYMER,115KV,Y-CEVIS-BALL
2135138 20 EA INSULATOR - SUSP, POLYMER, 138KV
2135515 737 EA INSULATOR-SUSP.,POLYMER,15KV
2135525 908 EA INSULATOR-SUSP,POLYMER,25KV
2140025 1,567 EA INSULATOR-VLP 25KV(for 12.5KV)-CLAMP TOP-Porcelain
2140035 3,780 EA INSULATOR-VLP 35KV (for 25 KV)-CLAMP TOP-Porcelain
2140036 166 EA INSULATOR-LINE POST for 25 KV-CLAMP TOP-Polymer
2140066 723 EA INSULATOR-VERT.LINE POST 66KV,1 PER CRATE
2140088 138 EA INSULATOR-POLY VERT.LN.POST.88KV
2150215 17 EA INSULATOR-POLY HORZ.LN.PST.12.5KV
2150225 6 EA INSULATOR-POLY HORZ.LN.PST.25KV
2150272 498 EA INSULATOR-HORZ. LN. PST.,66KV, PERMANENT BASE
2150288 142 EA INSULATOR-POLY HORZ.LN.PST.88KV
2405502 18 EA METER TEST SWITCH - COLOR CODED
2405505 75 EA AUTOMATIC BY-PASS METER SOCKET
2405552 17 EA METER ADAPTER - "A" BASE TO SOCKET TYPE - 4 JAW
2405553 20 EA METER ADAPTER - POLYPHASE "A" BASE TO SOCKET TYPE - 5 JAW-100AMP
2405556 28 EA METER ADAPTER - POLYPHASE "A" BASE TO SOCKET TYPE - 13 JAW
2405558 50 EA METER ADAPTER - "A" BASE TO SOCKET TYPE - 6 JAW
2405566 64 EA THREE PHASE METERING ASSEMBLY
2430100 171 EA COVER-METER SOCKET,CLEAR LEXAN,BLADED
2430200 300 EA RING-METER SEALING,"SNAPLOCK",STAINLESS STEEL




PUB-NP-235, Attachment A
Page 15 of 23

Newfoundland Power Spare Parts and Equipment Inventory
Central Stores and Area Offices
Item Number | Quantity on Hand| Base Unit of Measure |Item Description
2430210 45 EA BAND-METER, REDI RING 2000
2430310 14,200 EA SEAL-QUICK,METER BAND,NUMBERED BLUE PLASTIC
2430350 11,000 EA SEAL-METER PLASTIC,"BLACK"
2430355 13,000 EA SEAL-METER,PLASTIC,"BLUE"
2430360 21,000 EA SEAL-METER,PLASTIC,"GRAY"
2430365 16,000 EA SEAL-METER,PLASTIC,"GREEN"
2430370 16,000 EA SEAL-METER,PLASTIC,"RED"
2430375 16,000 EA SEAL-METER,PLASTIC,"WHITE"
2430380 8,000 EA SEAL-METER,PLASTIC,"YELLOW"
2430399 1,000 EA SEAL-METER,PLASTIC/METAL (PADLOCK)
2430550 136 EA METER DISCONNECTS- SERVICE ADAPTER
2820452 4 EA POLE-WOOD,PENTA;45' CL2
2820502 14 EA POLE-WOOD,PENTA;50' CL2
2820552 9 EA POLE-WOOD,PENTA;55 CL2
2820602 9 EA POLE-WOOD,PENTA;60' CL2
2820652 2 EA POLE-WOOD,PENTA;65' CL2
2820702 9 EA POLE-WOOD,PENTA;70' CL2
2825403 2 EA POLE-WOOD, C.C.A; 40'CL3
2830250 8 EA POLE-GALV.STEEL,25'0",DIRECT BURIAL
2830326 219 EA POLE-GALV.STEEL,32'6",DIRECT BURIAL
2830450 10 EA POLE-GALV.STEEL,45'0",DIRECT BURIAL
2831404 12 EA POLE-DIST;GALV STEEL,40',CL4
2832403 4 EA POLE - TRNSM; GALV STEEL; 40' CLASS 3
2832453 2 EA POLE - TRNSM.; GALV STEEL; 45' CLASS 3
2832503 2 EA POLE - TRSNM.; GALV. STEEL,; 50' CLASS 3
2832553 3 EA POLE - TRSNM.; GALV. STEEL,; 55' CLASS 3
2832602 7 EA POLE - TRSNM.; GALV. STEEL; 60' CLASS 2
2832652 5 EA POLE - TRSNM.; GALV. STEEL; 65' CLASS 2
2880020 102 EA STEPS - REMOVABLE FOR STEEL POLES
2880025 122 EA STEPS - REMOVABLE FOR STEEL POLES; 'SUREFOOT!
2880034 364 EA PLUG-WOOD, PENTA TREATED, 3/4" X 1 1/2", TAPERED
2880078 338 EA PLUG-WOOD, PENTA TREATED, 7/8" X 1 1/2", TAPERED
2880080 4 EA KIT-MAKE A CLAMP, 100' OF 1/2" BAND
2880090 279 EA COVER-HAND HOLE, for use with STREET LIGHT POLES
3050210 18 RL CLOTH-WIPING, A-TORK 4.5KG
3060712 269 EA MUG-CERAMIC,WHITE
3080100 29 EA PADLOCK-2" Shackle-BEST MASTERKEY SYSTEM,W/NP LOGO
3080104 12 EA PADLOCK-1/4" Shackle x 3/4" L-BEST MASTERKEY SYSTEM, W/NP LOGO
3080110 24 EA PADLOCK-3/4" Shackle-BEST MASTERKEY SYS, W/NP LOGO
3210103 100 EA ARRESTOR-SURGE,DIST. CLASS, 3KV CLASS
3210109 1,395 EA ARRESTOR-SURGE, DIST. CLASS, 9KV CLASS
3210121 800 EA ARRESTOR-SURGE, DIST. CLASS, 18KV CLASS
3210203 17 EA ARRESTOR-SURGE, RISER POLE, 3KV CLASS
3210209 112 EA ARRESTOR-SURGE, RISER POLE, 9KV CLASS
3210218 55 EA ARRESTOR-SURGE, RISER POLE, 18KV CLASS
3210303 7 EA ARRESTOR-SURGE; INT. CL. 2.55kv MCOV,W/CAP
3210307 13 EA ARRESTOR-SURGE; INT. CL. 7.65kv MCOV,W/CAP
3210309 9 EA ARRESTOR-SURGE; INT. CL. 15.3kv MCOV,W/CAP
3210342 13 EA ARRESTOR-SURGE; INT. CL. 42kv MCOV,W/CAP
3210348 9 EA ARRESTOR-SURGE; INT. CL. 60kv W/CAP,48kv MCOV




PUB-NP-235, Attachment A

Page 16 of 23

Newfoundland Power Spare Parts and Equipment Inventory
Central Stores and Area Offices

Item Number | Quantity on Hand| Base Unit of Measure |Item Description
3210357 12 EA ARRESTOR-SURGE; INT. CL. 72kv W/CAP,57kv MCOV
3210360 9 EA ARRESTOR-SURGE; INT. CL. 98KV MCOV,W/CAP
3210384 6 EA ARRESTOR-SURGE; INT. CL. 84kv MCOV,W/CAP
3210395 8 EA ARRESTOR-SURGE; INT. CL. 115kv MCOV,W/CAP
3220125 1,365 EA CUTOUT-0.T.,14.4/25KV,100A (POLY) (W/ FUSEHOLDER)
3220410 10 EA SMD-20 POLE TOP FUSE-25KV 200E AMP
3220420 9 EA SMD-20 POWER FUSE-25KV 200E AMP
3220440 6 EA SMD-40 POWER FUSE-25KV 400E AMP
3220460 4 EA SMD-1A POWER FUSE-69KV 200E
3220462 9 EA UPPER ASSEMBLY (LIVE PARTS) FOR SMD-1A POWER FUSE 69KV 200E
3220464 3 EA LOWER ASSEMBLY (LIVE PARTS) FOR SMD-1A POWER FUSE 69KV 200E
3220583 4 EA CUTOUT-HX,8.3KV,100A
3220605 9 EA SWITCH-SID-27KV, 125 KV BIL, two-hole NEMA pad, 900 amps
3220627 20 EA SWITCH-IN-LINE DISC,25KV
3220630 66 EA DISCONNECT-900 AMP INLINE for 1/0 AASC
3220635 52 EA DISCONNECT-900 AMP INLINE for 4/0 AASC
3220640 43 EA DISCONNECT-900 AMP INLINE for 477 ASC
3220645 52 EA TAP-DEADEND FOR 900 AMP INLINE ON 1/0-2/0AASC
3220650 64 EA TAP-DEADEND FOR 900 AMP INLINE ON 4/0 AASC
3220655 82 EA TAP-DEADEND FOR 900 AMP INLINE ON 477 AASC
3220720 EA SWITCH-HOOKSTICK 25KV, 600A REGULATOR BYPASS
3220725 EA SWITCH-HOOKSTICK 25KV,1200A SM.BOLT SPACING, 840mm
3220726 14 EA SWITCH-HOOKSTICK 25KV,1200A LG. BOLT SPACING, 1295 mm
3220731 8 EA SWITCH-HOOKSTICK 25KV, 900A 1Ph RECLOSER BYPASS
3220733 16 EA SWITCH-HOOKSTICK 25KV, 900A 3Ph RECLOSER BYPASS
3220800 2 EA SWITCH-LOAD BREAK, 3 POLE GANG OPERATED
3220900 EA SWITCH-VERT AIRBREAK; 72.5kv,1200; GROUP OPERATED
3220920 1 EA SWITCH-VERT AIRBREAK; 15kv,1200; GROUP OPERATED
3220925 1 EA SWITCH-VERT AIRBREAK; 25kv,1200; GROUP OPERATED
3224230 15 EA FUSEHOLDER-REPLACEMENT, 14.4/25KV, 200A
3224715 16 EA BLADE-SOLID,REPLACEMENT 7.8/14.4 KV, 300A
3224725 79 EA BLADE-SOLID,REPLACEMENT,14.4/25KV, 300A
3233040 87 EA FUSE-CURR. LIMITING,5KV, 40K
3233050 30 EA FUSE-CURR. LIMITING, 4.3KV, 80K
3233112 12 EA FUSE-CURR. LIMITING,8.3KV,12A, TYPE ELX
3233118 12 EA FUSE-CURR. LIMITING,8.3KV,18A, TYPE ELX
3233125 13 EA FUSE-CURR. LIMITING,8.3KV,25A, TYPE ELX
3233200 EA FUSE-X- LIMITER, 8.3 KV,100A,FOR C.L. CUTOUT
3233290 EA END FITTING, HINGE END FOR C.L. FUSE
3233291 EA END FITTING, CONTACT ASSEMBLY FOR C. L. FUSE
3233296 EA END FITTING -UPPER- FOR 69KV, SMD-1A-FUSE
3233297 13 EA END FITTING -LOWER- FOR 69KV, SMD-1A-FUSE
3233312 32 EA FUSE-CURR. LIMITING,8.3KV, 12K (FOR USE ON 12.5KV)
3233325 37 EA FUSE-CURR. LIMITING,8.3KV, 25K (FOR USE ON 12.5KV)
3233340 8 EA FUSE-CURR. LIMITING,8.3KV,40K (FOR USE ON 12.5KV)
3233380 22 EA FUSE-CURR. LIMITING,8.3KV,80K (FOR USE ON 12.5KV)
3233400 13 EA FUSE-CURR. LIMITING;8.3KV,100K (FOR USE ON 15KV)
3233512 EA FUSE-CURR. LIMITING,15.5KV,12K (FOR USE ON 25KV)
3233525 EA FUSE-CURR. LIMITING,15.5KV,25K (FOR USE ON 25KV)
3233540 EA FUSE-CURR. LIMITING,15.5KV,40K (FOR USE ON 25KV)




PUB-NP-235, Attachment A
Page 17 of 23

Newfoundland Power Spare Parts and Equipment Inventory
Central Stores and Area Offices

Item Number | Quantity on Hand| Base Unit of Measure |Item Description
3233580 6 EA FUSE-CURR. LIMITING, 15.5KV, 80K (FOR USE ON 25KV)
3235000 70 EA FUSE-LINK,HIGH SURGE,23",1/2 AMP
3235001 180 EA FUSE-LINK,HIGH SURGE,23",1 AMP
3235002 390 EA FUSE-LINK,HIGH SURGE,23",2AMP
3235006 757 EA FUSE-LINK, TYPE K,23",6 AMP
3235008 200 EA FUSE-LINK, TYPE K,23",8 AMP
3235010 596 EA FUSE-LINK, TYPE K,23",10AMP
3235012 75 EA FUSE-LINK, TYPE K,23"12AMP
3235015 191 EA FUSE-LINK,TYPE K,23",15 AMP
3235020 102 EA FUSE-LINK,TYPE K,23",20AMP
3235025 80 EA FUSE-LINK,TYPE K,23",25AMP
3235030 81 EA FUSE-LINK,TYPE K,23",30AMP
3235040 62 EA FUSE-LINK,TYPE K,23",40AMP
3235050 91 EA FUSE-LINK,TYPE K,23" 50AMP
3235065 96 EA FUSE-LINK,TYPE K,23",65AMP
3235080 67 EA FUSE-LINK,TYPE K,23",80AMP
3235100 105 EA FUSE-LINK,TYPE K,23",100AMP
3235140 18 EA FUSE - LINK, TYPE K, 23", 140AMP
3235200 22 EA FUSE-LINK,TYPE K,23",200A
3235801 13 EA FUSE-OPEN LINK,TYPE T,8",1AMP
3235802 20 EA FUSE-OPEN LINK,TYPE T,8",2AMP
3235803 24 EA FUSE-OPEN LINK,TYPE K,8",3AMP
3235806 14 EA FUSE-OPEN LINK,TYPE K,8",6AMP
3238001 EA CARTRIDGE-LOAD SENSING FUSE, "BAY-O-NET"
3238002 EA CLAMP-LD.SENSING FUSE CARTRIDGE, "BAY-O-NET"
3238108 EA FUSE-LOAD SENSING,8A;"BAY-O-NET",37 KVA
3238115 EA FUSE-LOAD SENSING,15A;"BAY-O-NET",50/75 KVA
3238125 19 EA FUSE-LOAD SENSING,25A,"BAY-O-NET",100/167TKVA
3238715 EA FUSE-TYPE PM,7.5KV,15A, TCC#165-10,FOR PAD MOUNTS
3238725 EA FUSE-TYPE PM,7.5KV,25A, TCC#165-6 FOR PAD MOUNTS
3238750 EA FUSE-TYPE PM,7.5KV,50A, TCC#165-6,FOR PAD MOUNTS
3240020 10 EA FUSE-CTRL;20 AMP, 250 VOLT, TYPE HRCI-R
3240060 24 EA FUSE-CTRL; 5 AMP, 250 VOLT, TYPE HRCI-R
3240065 20 EA FUSE-CTRL;15 AMP, 250 VOLT, TYPE HRCI-R
3240403 7 EA FUSE-REFILL,SLOW SPD;25KV,40E TYPE SMU-20
3240506 15 EA FUSE-REFILL,SLOW SPD. 25KV,65E TYPE SMU-20
3240510 EA FUSE-REFILL,SLOW SPD.,25KV,100E, TYPE SMU-20
3240515 EA FUSE-REFILL,SLOW SPD,25KV,150E,TYPE SMU-20
3240520 EA FUSE-REFILL,SLOW SPD.,25KV,200E, TYPE SMU-20
3240601 12 EA FUSE-REFILL,STD. SPD;69KV,1E,TYPE SMD-1A
3240602 EA FUSE-REFILL,STD. SPD;69KV,3E,TYPE SMD-1A
3240603 EA FUSE-REFILL,STD. SPD.,69KV,30E,TYPE SMD-1A
3240604 EA FUSE-REFILL,STD. SPD.,69KV,40E,TYPE SMD-1A
3240605 14 EA FUSE-REFILL, STD. SPD.,69KV,50E, TYPE SMD-1A
3240606 EA FUSE-REFILL,STD. SPD,69KV,65E, TYPE SMD-1A
3240608 EA FUSE-REFILL,STD. SPD.,69KV,80E,TYPE SMD-1A
3240610 10 EA FUSE-REFILL,STD. SPD,69KV,100E, TYPE SMD-1A
3240612 EA FUSE-REFILL,STD. SPD,69KV,125E, TYPE SMD-1A
3240615 EA FUSE-REFILL,STD. SPD.,69KV,150E,TYPE SMD-1A
3240620 13 EA FUSE-REFILL,STD. SPD.,69KV,200E,TYPE SMD-1A




PUB-NP-235, Attachment A
Page 18 of 23

Newfoundland Power Spare Parts and Equipment Inventory
Central Stores and Area Offices

Item Number | Quantity on Hand| Base Unit of Measure |Item Description
3240630 11 EA FUSE-REFILL,STD. SPD.,25KV, 1E,TYPE SMU 20, FOR LIVE PART
3240701 EA FUSE-REFILL,SLOW SPD.,69KV,15E, TYPE SMD-1A
3240702 EA FUSE-REFILL, SLOW SPD.,69KV,25E,TYPE SMD-1A
3240703 EA FUSE-REFILL,SLOW SPD.,69KV,30E, TYPE SMD-1A
3240704 EA FUSE-REFILL,SLOW SPD.,69KV,40E, TYPE SMD-1A
3240705 14 EA FUSE-REFILL, SLOW SPD.,69KV,50E,TYPE SMD-1A
3240706 3 EA FUSE-REFILL,SLOW SPD.,69KV,65E, TYPE SMD-1A
3240708 21 EA FUSE-REFILL,SLOW SPD.,69KV,80E, TYPE SMD-1A
3240725 7 EA FUSE-REFILL,SLOW SPD.,69KV,125E,TYPE SMD-1A
3240750 15 EA FUSE-REFILL,SLOW SPD.,69KV,150E,TYPE SMD-1A
3240803 3 EA FUSE-REFILL,STD. SPD.,69KV,30E,TYPE SMD-50
3240910 8 EA FUSE-LINK,TYPE E,69KV,1A;SPECIAL FOR S/S
3240912 4 EA FUSE-LINK, TYPE E,69KV,30A;SPECIAL FOR S/S
3240914 7 EA FUSE-LINK,TYPE E 69KV,65A; SPECIAL FOR S/S
3240916 3 EA FUSE-LINK,TYPE E,69KV,100A;SPECIAL FOR S/S
3240918 2 EA FUSE-LINK TYPE E,69KV,125A;SPECIAL FOR S/S
3240923 12 EA FUSE-REFILL,K SPEED.,25KV, 3 AMP,TYPE SMU 20
3240926 11 EA FUSE-REFILL,K SPEED.,25KV, 6 AMP,TYPE SMU 20
3240932 3 EA FUSE-LOADBREAK,2.8KV,25A,(FOR PEPP & BCKMST CR)
3240942 3 EA FUSE-LOADBREAK,8.3KV,200A,(FOR AVALON MALL)
3245115 3 EA HEATER-STRIP,120V,150W
3245125 7 EA HEATER-STRIP,120V,250W
3245155 6 EA HEATER-STRIP,120V,500W (138KV KSO BREAKERS)
3245250 6 EA HEATER-STRIP,240V,500W
3245299 4 EA HEATER-STRIP,240V,1000W
3260030 45 EA FUSEHOLDER-CART;30A DBL. POLE
3265041 111 EA UNDERGROUND/PADMOUNT FAULTED CIRCUIT INDICATORS
3265048 12 EA OVERHEAD FAULTED CIRCUIT INDICATORS-UP TO 69KV
3825025 5 EA LUMINAIRE-SUBSTATION, HPS,250W (complete w/bracket arm)
3825110 23 EA LUMINAIRE-POST TOP,HPS,100W
3825310 433 EA LUMINAIRE-STD;HPS,100W
3825315 185 EA LUMINAIRE-STD;HPS,150W
3825325 74 EA LUMINAIRE-STD;HPS,250W
3825340 27 EA LUMINAIRE-STD;HPS,400W,120V
3831202 185 EA BRACKET-ST.LGT.2"X2'0",UNIV.
3831206 438 EA BRACKET-ST.LGT.2"x6'0",UNIV.
3831214 23 EA BRACKET-ST.LGT.2"X14'0",UNIV.
3831500 9 EA BRACKET-CRN.ADP.MTG.,S/S LUM
3831625 400 EA PLASTIC END CAPS for ST. LGT BRACKET
3833100 18 EA KIT-CONV;MV TO HPS,100W,HPF REACTOR TYPE
3833150 1 EA KIT-CONV;MV TO HPS,150W,HPF REACTOR TYPE
3833250 25 EA KIT-CONV;MV TO HPS,250W,CWI TYPE
3842310 2,256 EA LAMP-H.P.S.,100W
3842315 408 EA LAMP,H.P.S.,150W
3842325 210 EA LAMP-H.P.S.,250W
3842340 184 EA LAMP-H.P.S,400W
3848100 2,326 EA CONTROL-PHOTOELECTRIC,120V
3848240 50 EA STARTER - AEL 100/150W HPS LUMINAIRE
3850110 EA REFRACTOR-STD,POLY,175/250W MV,100/150/250 W HPS
3850217 EA REFRACTOR-DD/PT POLYCARBONATE




PUB-NP-235, Attachment A
Page 19 of 23

Newfoundland Power Spare Parts and Equipment Inventory

Central Stores and Area Offices

Item Number | Quantity on Hand| Base Unit of Measure |Item Description
3850600 EA REFRACTOR-HOLOPHANE S/S LUM,C/W COVER ASSY.
3860010 2 EA ADAPTER-MTG;PHOTO CONTROL
3860100 25 EA BAND-ST.LGT. POLE GALV. 4"DIA.
3860175 4 EA BAND-ST.LGT.POLE,GALV.4.75"DIA.
3860600 10 EA FUSEHOLDER-IN LINE,C/W INSULATING BOOTS
3860610 20 EA FUSE-10AMP,FOR USE IN TRON FUSEHOLDER
4010002 11 SE NECKLACE-S/M CABLE,"LARGE",CAST IRON
4401010 9 EA XFMR-PL.MTG;10KVA,2.4-120/240
4401025 5 EA XFMR-PL.MTG;25KVA,2.4-120/240
4401050 2 EA XFMR-PL.MTG;50KVA,2.4-120/240
4401075 6 EA XFMR-PL.MTG;75KVA,2.4-120/240
4401167 2 EA XFMR-PL.MTG;167KVA,2.4-120/240
4405011 164 EA XFMR-PL.MTG;10KVA,7.2-120/240 W/ ATK
4405026 267 EA XFMR-PL.MTG;25KVA,7.2-120/240 W/ ATK
4405051 292 EA XFMR-PL.MTG;50KVA,7.2-120/240 W/ ATK
4405076 158 EA XFMR-PL.MTG;75KVA,7.2-120/240 W/ ATK
4405101 92 EA XFMR-PL.MTG;100KVA,7.2-120/240 W/ ATK
4405167 15 EA XFMR-PL.MTG;167KVA,7.2-120/240 W ATK
4405250 EA XFMR-PLAT.MTG;250KVA,7.2-120/240
4406050 EA XFMR-PL.MTG;50KVA,7.2-240/480
4406100 EA XFMR-PL.MTG;100KVA,7.2-240/480
4407011 68 EA XFMR-PL.MTG;10KVA,7.2-347/600 W/ ATK
4407026 68 EA XFMR-PL.MTG;25KVA,7.2-347/600, W/ ATK
4407051 77 EA XFMR-PL.MTG;50 KVA,7.2-347/600 W/ ATK
4407075 1 EA XFMR-PL.MTG;75KVA,7.2-347/600
4407076 90 EA XFMR-PL.MTG;75KVA,7.2-347/600 W/ ATK
4407101 101 EA XFMR-PL.MTG;100KVA,7.2-347/600 W/ ATK
4407167 10 EA XFMR-PL.MTG;167KVA,7.2-347/600
4407333 EA XFMR-PLAT.MTG;333KVA,7.2-347/600
4408001 EA XFMR-PL.MTG;100KVA,7.2-277
4408025 14 EA XFMR-PL.MTG;25KVA,7.2-600
4408050 19 EA XFMR-PL.MTG;50KVA,7.2-600
4408075 9 EA XFMR-PL.MTG;75KVA,7.2-600
4408100 3 EA XFMR-PL.MTG;100KVA,7.2-600
4410010 142 EA XFMR-PL.MTG;10KVA,14.4-120/240 W/ ATK
4410025 143 EA XFMR-PL.MTG;25KVA,14.4-120/240 W/ ATK
4410050 160 EA XFMR-PL.MTG;50KVA,14.4-120/240, W/ ATK
4410075 106 EA XFMR-PL.MTG;75KVA,14.4-120/240 W/ ATK
4410100 70 EA XFMR-PL.MTG;100KVA,14.4-120/240,W/ ATK
4410167 EA XFMR-PL.MTG;167KVA,14.4-120/240 W/ ATK
4411050 EA XFMR-PL.MTG;50KVA,14.4-240/480,W/ ATK
4412010 49 EA XFMR-PL.MTG;10KVA,14.4-347/600 W/ ATK
4412025 57 EA XFMR-PL.MTG;25KVA,14.4-347/600 W/ ATK
4412050 52 EA XFMR-PL.MTG;50KVA,14.4-347/600 W/ ATK
4412075 53 EA XFMR-PL.MTG;75KVA,14.4-347/600 W/ ATK
4412100 55 EA XFMR-PL.MTG;100KVA,14.4-347/600 W/ ATK
4412167 EA XFMR-PL.MTG;167KVA,14.4-347/600 W/ ATK
4413025 EA XFMR-PL.MTG;25KVA,14.4-600 W/ ATK
4413050 EA XFMR-PL.MTG;50KVA,14.4-600 W/ ATK
4416010 14 EA XFMR-PL.MTG;10KVA,7.2/2.4-120/240 (DUAL WOUND)




PUB-NP-235, Attachment A
Page 20 of 23

Newfoundland Power Spare Parts and Equipment Inventory
Central Stores and Area Offices

Item Number | Quantity on Hand| Base Unit of Measure |Item Description
4416025 55 EA XFMR-PL.MTG;25KVA,7.2/2.4-120/240 (DUAL WOUND)
4416050 95 EA XFMR-PL.MTG;50KVA,7.2/2.4-120/240 (DUAL WOUND)
4416075 15 EA XFMR-PL.MTG;75KVA,7.2/2.4-120/240 (DUAL WOUND)
4416100 46 EA XFMR-PL.MTG;100KVA,7.2/2.4-120/240 (DUAL WOUND)
4416167 4 EA XFMR-PL.MTG;167KVA,7.2/2.4-120/240 (DUAL WOUND)
4418025 11 EA XFMR-PL.MTG;25KVA,7.2/2.4-347/600 (DUAL WOUND)
4418050 7 EA XFMR-PL.MTG;50KVA,7.2/2.4-347/600 (DUAL) W ATK
4418075 10 EA XFMR-PL.MTG;75KVA,7.2/2.4-347/600 (DUAL) W ATK
4418100 11 EA XFMR-PL.MTG;100KVA,7.2/2.4-347/600 (DUALS) W ATK
4418167 4 EA XFMR-PL.MTG;167KVA,7.2/2.4-347/600 (DUAL WOUND)
4419167 1 EA XFMR-PL.MTG;167KVA,7.2/2.4-600 (DUAL WOUND)
4421010 2 EA XFMR-PL.MTG;10KVA,14.4/2.4-120/240 (DUAL WOUND)
4421025 3 EA XFMR-PL.MTG;25KVA,14.4/2.4-120/240 (DUAL WOUND)
4421050 1 EA XFMR-PL.MTG;50KVA,14.4/2.4-120/240 (DUAL WOUND)
4421075 2 EA XFMR-PL.MTG;75KVA,14.4/2.4-120/240 (DUAL) W/ ATK
4423010 18 EA XFMR-PL. MTG;10KVA,14.4/7.2-120/240 (DUAL WOUND)
4423025 18 EA XFMR-PL.MTG;25KVA,14.4/7.2-120/240 (DUAL WOUND)
4423050 16 EA XFMR-PL.MTG;50KVA,14.4/7.2-120/240 (DUAL WOUND)
4423075 4 EA XFMR-PL.MTG;75KVA,14.4/7.2-120/240 (DUAL WOUND)
4423100 30 EA XFMR-PL.MTG;100KVA,14.4/7.2-120/240 (DUAL WOUND)
4427050 7 EA XFMR-PL.MTG;50KVA,7.2-2.4 (STEPDOWN)
4427075 3 EA XFMR-PL.MTG;75 KVA,7.2-2.4 [STEPDOWN]
4427100 4 EA XFMR-PL.MTG;100KVA,7.2-2.4 (STEPDOWN)
4427150 4 EA XFMR-PL.MTG;150KVA,7.2-2.4 (STEPDOWN)
4427250 1 EA XFMR-PLAT.MTG;250KVA,7.2-2.4 (STEPDOWN)
4428075 2 EA XFMR-PL.MTG;75KVA,14.4-2.4 (STEPDOWN)
4428100 4 EA XFMR-PL.MTG;100KVA,14.4-2.4 (STEPDOWN)
4428167 4 EA XFMR-PL.MTG;167KVA,14.4-2.4 (STEPDOWN)
4429150 1 EA XFMR-PLAT.MTG;150KVA,14.4-7.2 (STEPDOWN)
4429250 2 EA XFMR-PLAT.MTG;250KVA,14.4-7.2 (STEPDOWN)
4440050 14 EA XFMR-PADMTG,1PH,50KVA,7.2-120/240
4440075 5 EA XFMR-PADMTG,1PH,75KVA,7.2-120/240
4440100 14 EA XFMR-PADMTG,1PH,100KVA,7.2-120/240
4440167 EA XFMR-PADMTG,1PH,167KVA,7.2-120/240
4444050 EA XFMR-PADMTG, 1PH, 50KVA, 7.2/2.4-120/240 (DUAL)
4444075 EA XFMR-PADMTG, 1PH, 75KVA. 7.2/2.4-120/240 (DUAL)
4444100 EA XFMR-PADMTG,1PH,100KVA,7.2/2.4-120/240(DUAL)
4446050 14 EA XFMR-PADMTG,1PH,50KVA,14.4/7.2-120/240(DUAL)
4446100 15 EA XFMR-PADMTG,1PH,100KVA,14.4/7.2-120/240(DUAL)
4454300 6 EA XFMR-PADMTG,3PH,300KVA,12.5-120/208
4454500 5 EA XFMR-PADMTG,3PH,500KVA,12.5-120/208
4454750 3 EA XFMR-PADMTG,3PH,750KVA,12.5-120/208
4454910 2 EA XFMR-PADMTG,3PH,1000KVA,12.5-120/208
4454911 1 EA XFMR-PADMTG,3PH,1000KVA,12.5, 120/240
4455300 2 EA XFMR-PADMTG,3PH,300KVA,12.5-120/208 LOOP FEED
4455500 3 EA XFMR-PADMTG,3PH,500KVA,12.5-120/208 LOOP FEED
4455910 3 EA XFMR-PADMTG,3PH,1000KVA,12.5-120/208 LOOP FEED
4456300 5 EA XFMR-PADMTG,3PH,300KVA,12.5-347/600
4456500 9 EA XFMR-PADMTG,3PH,500KVA,12.5-347/600
4456750 12 EA XFMR-PADMTG,3PH,750KVA,12.5-347/600




PUB-NP-235, Attachment A
Page 21 of 23

Newfoundland Power Spare Parts and Equipment Inventory
Central Stores and Area Offices
Item Number | Quantity on Hand| Base Unit of Measure |Item Description
4456910 6 EA XFMR-PADMTG,3PH,1000KVA,12.5-347/600
4456915 2 EA XFMR-PADMTG,3PH,1500KVA,12.5-347/600
4456920 4 EA XFMR-PADMTG,3PH,2000KVA,12.5-347/600
4456925 1 EA XFMR-PADMTG,3PH,2500KVA,12.5-347/600
4458300 2 EA XFMR-PADMTG,3PH,300KVA,12.5-347/600 LOOP FEED
4458500 2 EA XFMR-PADMTG,3PH,500KVA,12.5-347/600 LOOP FEED
4458750 1 EA XFMR-PADMTG,3PH,750KVA,12.5-347/600 LOOP FEED
4458910 1 EA XFMR-PADMTG,3PH,1000KVA,12.5-347/600 LOOP FEED
4458915 2 EA XFMR-PADMTG,3PH,1500KVA,12.5-347/600 LOOP FEED
4458920 3 EA XFMR-PADMTG,3PH,2000KVA,12.5-347/600 LOOP FEED
4459500 1 EA XFMR-PADMTG,3PH,500KVA,25-120/208
4459750 1 EA XFMR-PADMTG,3PH,750KVA,25-120/208
4461300 5 EA XFMR-PADMTG,3PH,300KVA,25-347/600
4461500 4 EA XFMR-PADMTG,3PH,500KVA,25-347/600
4461750 5 EA XFMR-PADMTG,3PH,750KVA,25-347/600
4461910 4 EA XFMR-PADMTG,3PH,1000KVA,25-347/600
4461915 3 EA XFMR-PADMTG,3PH,1500KVA,25-347/600
4461925 1 EA XFMR-PADMTG,3PH,2500KVA,25-347/600
4465150 1 EA XFMR-PADMTG,3PH,150KVA,12.5/4.16-120/208(DUAL)
4465300 4 EA XFMR-PADMTG,3PH,300KVA,12.5/4.16-120/208(DUAL)
4465500 1 EA XFMR-PADMTG,3PH,500KVA,12.5/4.16-120/208(DUAL)
4466300 2 EA XFMR-PADMTG,3PH,300KVA,12.5/4.16-347/600(DUAL)
4466500 1 EA XFMR-PADMTG,3PH,500KVA,12.5/4.16-347/600(DUAL)
4466750 1 EA XFMR-PADMTG,3PH, 750K VA, 12.5/4.16-347/600 (DUAL)
4466915 1 EA XFMR-PADMTG,3PH,1500KVA,12.5/4.16-347/600 (DUAL)
4467500 1 EA XFMR-PADMTG,3PH,500KVA,12.5/4.16-600(DUAL)
4472750 2 EA XFMR-PADMTG,3PH,750KVA,25/12.5-347/600(DUAL)
4472910 2 EA XFMR-PADMTG,3PH,1000KVA,25/12.5-347/600(DUAL)
4472915 2 EA XFMR-PADMTG,3PH,1500KVA,25/12.5-347/600(DUAL)
4472925 1 EA XFMR-PADMTG,3PH,2500KVA,25/12.5-347/600(DUAL)
4473300 1 EA XFMR-PADMTG,3PH,300KVA,25/4.16-347/600(DUAL)
4535030 18 EA PIPETTE-RIGID, 1/4", 30" length
4540020 540 EA KIT-PCB SCREENING
4540030 81 EA OIL SAMPLE SYRINGE & BOTTLE
4540032 120 EA OIL SAMPLING KITS - GENERATION
4540112 4 EA FILTER-TRANSF.OIL,DISC PAK,12" DIA
4540411 24 GL PAINT - THERMOCLAD, GRAY
4540431 2 GL PAINT-GLYPTOL, RED
4545100 761 EA COVER-TRANSFORMER BUSHING
4545110 671 MT WIRE - COVERED TAP FOR XFRM INSTALLATION
4545302 100 SE XFMR HANGER SUPPORT BRACKET FOR FRAMECO TANKS MADE 2001-2002
4545306 400 SE XFMR HANGER SUPPORT BRACKET FOR JL LECLERC TANKS MADE 2003-2006
4545326 234 EA SPRING-ANTI-TRACKING,S.S.
4806103 4 EA POTHEAD-1/C,5KV,350MCM (FOR KINGS BR)
4806312 2 EA POTHEAD-1/C,15KV,1250MCM
4806317 8 EA POTHEAD-1/C,15KV,1750MCM
4806407 1 EA POTHEAD-1/C,25KV,750MCM
4806412 2 EA POTHEAD-1/C,25KV,1250MCM
4806417 3 EA POTHEAD-1/C,25KV,1750MCM,G&W
4806418 8 EA POTHEAD-1/C,25KV,1750MCM,CAN. WIRE




PUB-NP-235, Attachment A
Page 22 of 23

Newfoundland Power Spare Parts and Equipment Inventory
Central Stores and Area Offices

Item Number | Quantity on Hand| Base Unit of Measure |Item Description
4806605 3 EA POTHEAD-3/C,15KV,500MCM (G&W)
4806990 22 EA COMPOUND-INSULATING
4806995 8 EA COMPOUND-INSULATING, XLP POTHEAD + 25KV PILC
4809115 45 EA BUSHING-LOADBREAK,15KV,200A
4809125 41 EA BUSHING-LOADBREAK,25KV,200A
4809155 6 EA BUSHING-PARKING,(CGE)15KV,NON-STD.
4809160 11 EA BUSHING-INSULATED, PARKING, 15KV
4809175 10 EA BUSHING-INSULATED, PARKING, 25KV
4809215 26 EA CAP-INSULATED-15KV
4809225 5 EA CAP-INSULATED,25KV
4809263 17 EA SLEEVE-COLD SHRINK SPLICE, #2-1/0
4809275 32 EA SLEEVE-COLD SHRINK SPLICE, 750 MCM AL
4809312 11 EA DEVICE-INSULATED FEED THRU, 15KV - WISHBONE INSERT
4809315 1 EA DEVICE-INSULATED FEED THRU, 15KV
4809400 12 EA ELBOW-DEADBREAK, 600A
4809401 8 EA ASSEMBLY TOOL FOR USE WITH ELBOW-DEADBREAK, 600A
4809410 26 EA ELBOW-LOADBREAK, 15KV, 200A#2 ASC/CU
4809411 37 EA ELBOW-LOADBREAK, 15KV, 200A, #1/0 ASC/CU
4809414 42 EA ELBOW-LOADBREAK, 15KV, 200A#4/0 ASC/CU.
4809421 34 EA ELBOW-LOADBREAK, 25KV, 200A#1/0 ASC/CU.
4809502 34 EA SPLICE-PREFAB,15KV, 200A, 2ASC/CU
4809505 17 EA SPLICE-PREFAB,15KV,200A, #2ASC to #1/0 ASC
4809506 15 EA SPLICE-PREFAB,15KV,200A, #1/0 SOLID to #1/0 ASC
4809511 17 EA SPLICE-PREFAB,15KV,200A, #1/0 ASC/CU.
4809518 4 EA SPLICE-PREFAB, 15KV, 4/0 CU CPT., AERIAL CABLE
4809521 15 EA SPLICE-PREFAB,25KV,200A#1/0 ASC/CU.
4809540 4 EA SPLICE-TRIFURCATING-15KV,3C, 400MCM PILC TO 500 XLINK
4809550 2 EA SPLICE-TRIFURCATING-15KV,3C, 500MCM PILC TO 500 XLINK
4809617 2 EA SPLICE-15KV,3/C,#500MCM CPT.
4809630 3 EA SPILCE-25KV,3/C,750MCM CU.,XLPE
4809655 2 EA SPLICE-"Y" OIL STOP,3/C #500MCM PILC
4809690 1 EA SPLICE-ST/RED;15KV #500-#2/0 PILC
4809712 10 EA STRESS-CONE,15KV,3/C,#250MCM PILC CABLE
4809714 7 EA STRESS-CONE, 15KV, 3/C,#400MCM PILC CABLE
4809760 EA TAPING KIT
4809800 EA POTHEAD - PORCELAIN, 69KV, OIL FILLED
4809801 EA POTHEAD TERMINATION COMPONENTS, 69KV, OIL FILL.
4809811 70 EA TERM;SLIP-ON,15KV #1/0ASC/CU; #2ASC/CU
4809813 EA TERM;SLIP-ON,15KV,4/0CU (AERIAL)
4809814 EA TERM;SLIP-ON,15KV #4/0ASC/CU(PEPPERRELL)
4809821 35 EA TERM;SLIP-ON,25KV #1/0ASC/CU
4809824 22 EA TERM;SLIP-ON,25KV #4/0CU.AERIAL,600A
4810040 54 EA SPLICE-INLINE GEL KIT, 1000V, #2-4/0
4810120 9 EA SPLICE-HEAT SHRINK,STRAIGHT,15KV,1C,#2-2/0
4810140 2 EA SPLICE-HEAT SHRINK, TRIFURCATING,15KV,3C #4-4/0
4810240 3 EA SPLICE-HEAT SHRINK,WYE,15KV,1C #2-4/0
4810335 4 EA SPLICE-HEAT SHRINK,15KV,3C #2-350,PILC TO PILC
4810340 2 EA SPLICE,HEAT SHRINK,LONG,3C, #250-400 PILC TO PILC
4810350 3 EA SPLICE-HEAT SHRINK,15KV,3C #500-750,PILC TO PILC
4810360 3 EA SPLICE-HEAT SHRINK,SHORT,15KV,3C,#4/0-600




PUB-NP-235, Attachment A
Page 23 of 23

Newfoundland Power Spare Parts and Equipment Inventory
Central Stores and Area Offices
Item Number | Quantity on Hand| Base Unit of Measure |Item Description

4810425 8 EA TERMINATION-HEAT SHRINK,15KV,1C #2-250,X-LINK
4810440 17 EA TERMINATION-HEAT SHRINK,15KV,1C #3/0-400
4810450 4 EA TERMINATION-HEAT SHRINK,15KV,1C #4/0-500,X-LINK
4810500 2 EA TERMINATION,HEAT SHRINK,15KV,3C,500-800
4810650 6 EA TERMINATION,HEAT SHRINK,15KV,3C,#4/0-500
4810730 43 EA TERMINATION-HEAT SHRINK,25KV,1C #1-3/0,X-LINK
4810775 9 EA TERMINATION-HEAT SHRINK,25KV,1C,250-750,X-LINK
4810799 5 EA TERMINATION-HEAT SHRINK,25KV,1C,#400-1000
4810900 28 EA BRACKET-XLINK CABLE MOUNTING
4813012 54 EA PLUG-OUTLET (W.ST. U/G)
4820005 23 EA ENCLOSURE-U/G SERVICE,FIBERGLASS
4820020 8 EA PAD-TRANSF. FIBREGLASS MTG.
4820100 47 EA GRIP-CABLE SUPPORT #1/0 XLPE
4820125 15 EA GRIP-CABLE SUPPORT, 1.25" TO 1.49" DIA.
4820340 26 RL TAPE-WHITE COTTON SPLICING,1"W. X.007"T.
4820370 8 EA EMS 4" BALL MARKER
6008120 80 EA PREFORM WIRE GRIP - SUPPORT TANGENT .083
6008260 10 EA SUPPORT - DIELECTRIC- use w/Fibre Optic Cable
8401605 576 EA METER-SELF CONTAINED; kWh + kW; 1PH; 3 WIRE; 1.5 ELEMENTS (AMR)
8401615 40 EA METER-TRANSFORMER RATED; kWh + kW; 1PH; 2 WIRE; 1.0 ELEMENTS (AMR)
8401620 2,880 EA METER-SELF CONTAINED; kWh; 1 PH; 3 WIRE; 1.5 ELEMENTS (AMR)
8401621 16 EA METER-TRANSFORMER RATED; kWh + kVA; 3PH; 3 WIRE; 2 ELEMENTS (AMR)
8401627 252 EA METER-TRANSFORMER RATED; kWh + kVA; 3PH; 4 WIRE; 3 ELEMENTS (AMR)
8401629 240 EA METER-TRANSFORMER RATED; kWh; 1 PH; 3 WIRE; 1.5 ELEMENTS (AMR)
8401630 120 EA METER-TRANSFORMER RATED; kWh + kW; 1PH; 3 WIRE; 1.5 ELEMENTS (AMR)
8401652 720 EA METER-SELF CONTAINED; kWh; NET; 3 WIRE; 2 ELEMENTS (AMR)
8401655 12 EA METER-SELF CONTAINED; kWh + kW; 3PH; 3 WIRE; 2 ELEMENTS (AMR)
8401660 24 EA METER-SELF CONTAINED; kWh + kW; NET; 3 WIRE; 2 ELEMENTS (AMR)
8401671 212 EA METER-SELF CONTAINED; kWh + kW; 3PH; 4 WIRE; 3 ELEMENTS (AMR)
8401686 160 EA METER-TRANSFORMER RATED; kWh + kW; 3PH; 4 WIRE; 2.5 ELEMENTS (AMR)
8401687 640 EA METER-TRANSFORMER RATED; kWh + kW; 3PH; 4 WIRE; 3 ELEMENTS (AMR)




PUB-NP-235

Attachment B

Supply Issues and Power Outages

Requests for Information on the Island Interconnected System

Equipment and Parts
Electrical Maintenance Centre

Newfoundland Power



PUB-NP-235, Attachment B

Page 1 of 6
Newfoundland Power Spare Parts and Equipment Inventory
Entity Entity Name Classification Entity status
Breakers

1018922 210785- CB-Vacuum CB-Vacuum Reserved Spare
1019239 210797 - 15KV CB-Vacuum Reserved Spare
1019240 210798 - 15KV CB-Vacuum Reserved Spare
1019241 210799 - 15KV CB-Vacuum Reserved Spare
1019242 210800 - 15KV CB-Vacuum Spare

1019243 210801 - 15KV CB-Vacuum Spare

1019244 210802 - 15KV CB-Vacuum New

1019260 210803 - 15KV CB-Vacuum New

1019261 210804 - 15KV CB-Vacuum New

1019262 210805 - 15KV CB-Vacuum New

1005619 210584 - CB-SF6 CB-SF6 Spare

1018924 210786 - CB-SF6 CB-SF6 Reserved Spare
1018925 210787 - CB-SF6 CB-SF6 Reserved Spare
1019340 210806 - CB-SF6 CB-SF6 New

1019404 210810 - CB-SF6 CB-SF6 Reserved Spare
1019405 210811 - CB-SF6 CB-SF6 Reserved Spare
1019435 210812 - CB-SF6 CB-SF6 Spare

1019436 210813 - CB-SF6 CB-SF6 New

1019437 210814 - CB-SF6 CB-SF6 New

1019438 210815 - CB-SF6 CB-SF6 New

1019439 210816 - CB-SF6 CB-SF6 New

1019440 210817 - CB-SF6 CB-SF6 New

1019441 210818 - CB-SF6 CB-SF6 New

1019442 210819 - CB-SF6 CB-SF6 New

1019443 210820 - CB-SF6 CB-SF6 New

Reclosers

1009833 230561 - Recloser-Maintenance Free Recloser-Maintenance Free Reserved Spare
1012873 230584 - Recloser-Maintenance Free Recloser-Maintenance Free Spare

1015306 230592 - Recloser-Maintenance Free Recloser-Maintenance Free Reserved Spare
1018699 230630- Recloser-Maintenance Free Recloser-Maintenance Free Reserved Spare
1017641 230612 - Recloser-Maintenance Free Recloser-Maintenance Free Reserved Spare
1018699 230632- Recloser-Maintenance Free Recloser-Maintenance Free Reserved Spare
1019182 230635 - RECLOSER T&B Recloser-Maintenance Free Reserved Spare
1019183 230636 - RECLOSER T&B Recloser-Maintenance Free Reserved Spare
1019184 230637 - RECLOSER T&B Recloser-Maintenance Free Reserved Spare
1019185 230638 - RECLOSER T&B Recloser-Maintenance Free Reserved Spare



Entity
1019186
1019187
1019188
1019189
1019190
1019191
1019332
1019333
1019392
1019444
1019445
1019446
1019447
1019448
1019449
1019450
Regulators
1006341
1009323
1006534
1006535
1009610
1009366
1006557
1009370
1009618
1009619
1006592
1009620
1006598
1006599
1006600
1010083
1010084
1010099
1018296
1018297

Newfoundland Power Spare Parts and Equipment Inventory

Entity Name

230639 - RECLOSER T&B
230640 - RECLOSER T&B
230641 - RECLOSER T&B
230642 - RECLOSER T&B
230643 - RECLOSER T&B
230644 - RECLOSER T&B

230645 - Recloser T&B Single Phase
230646 - Recloser T&B Single Phase

230647 - RECLOSER T&B
230648 - RECLOSER T&B
230649 - RECLOSER T&B
230650 - RECLOSER T&B
230651 - RECLOSER T&B
230652 - RECLOSER T&B
230653 - RECLOSER T&B
230654 - RECLOSER T&B

220153 - Regulator
220254 - Regulator
220528 - Regulator
220529 - Regulator
220549 - Regulator
220550 - Regulator
220562 - Regulator
220608 - Regulator
220609 - Regulator
220610 - Regulator
220612 - Regulator
220615 - Regulator
220619 - Regulator
220620 - Regulator
220621 - Regulator
220656 - Regulator
220657 - Regulator
220667 - Regulator
220770 - Regulator
220771 - Regulator

Classification

Recloser-Maintenance Free
Recloser-Maintenance Free
Recloser-Maintenance Free
Recloser-Maintenance Free
Recloser-Maintenance Free
Recloser-Maintenance Free
Recloser-Maintenance Free
Recloser-Maintenance Free
Recloser-Maintenance Free
Recloser-Maintenance Free
Recloser-Maintenance Free
Recloser-Maintenance Free
Recloser-Maintenance Free
Recloser-Maintenance Free
Recloser-Maintenance Free
Recloser-Maintenance Free

Regulator
Regulator
Regulator
Regulator
Regulator
Regulator
Regulator
Regulator
Regulator
Regulator
Regulator
Regulator
Regulator
Regulator
Regulator
Regulator
Regulator
Regulator
Regulator

Regulator

PUB-NP-235, Attachment B
Page 2 of 6

Entity status
Reserved Spare
Reserved Spare
Reserved Spare
Reserved Spare
Reserved Spare
Reserved Spare
New
New
New
New
New
New
New
New
New
New

Spare
Spare
Spare
Spare
Spare
Spare
Spare
To Be Assessed
To Be Assessed
Spare
Spare
To Be Assessed
Spare
Spare
Spare
Spare
Spare
Spare
Spare
Spare



Entity
1018307
1018943
1018948
1018949
1018950
1018951
1019251
1019252
1019253
1019254
1019255
1019256
1019266
1019267
1019268
1019269
1019270
1019271
1019281
1019282
1019283
1019284
1019285
1019286
1019287
1019288
1019289
1019304
1019305
1019306
1019311
1019312
1019313
1019314
1019315
1019355
1019356

Newfoundland Power Spare Parts and Equipment Inventory

Entity Name

220772 - Regulator
220804 - Regulator
220809 - Regulator
220810 - Regulator
220811 - Regulator
220812 - Regulator
220831 - Regulator
220832 - Regulator
220833 - Regulator
220834 - Regulator
220835 - Regulator
220836 - Regulator
220841 - Regulator
220842 - Regulator
220843 - Regulator
220844 - Regulator
220845 - Regulator
220846 - Regulator
220847 - Regulator
220848 - Regulator
220849 - Regulator
220850 - Regulator
220851 - Regulator
220852 - Regulator
220853 - Regulator
220854 - Regulator
220855 - Regulator
220856 - Regulator
220857 - Regulator
220858 - Regulator
220859 - Regulator
220860 - Regulator
220861 - Regulator
220862 - Regulator
220863 - Regulator
220864 - Regulator
220865 - Regulator

Classification
Regulator
Regulator
Regulator
Regulator
Regulator
Regulator
Regulator
Regulator
Regulator
Regulator
Regulator
Regulator
Regulator
Regulator
Regulator
Regulator
Regulator
Regulator
Regulator
Regulator
Regulator
Regulator
Regulator
Regulator
Regulator
Regulator
Regulator
Regulator
Regulator
Regulator
Regulator
Regulator
Regulator
Regulator
Regulator
Regulator

Regulator

PUB-NP-235, Attachment B
Page 3 of 6

Entity status
Spare

Spare

Spare

Reserved Spare
New

New

Spare

Spare

Spare

Spare

Spare

Spare

New

New

New

New

New

New

New

New

New

New

New

Reserved Spare
New

Reserved Spare
Reserved Spare
New

New

New

New

New

New

New

New

New

New



PUB-NP-235, Attachment B

Page 4 of 6
Newfoundland Power Spare Parts and Equipment Inventory
Entity Entity Name Classification Entity status
1019357 220866 - Regulator Regulator New
1019358 220867 - Regulator Regulator New
Power Transformers
1008695 200113 - Power Xfmr-TC (2.5MVA, 66-25/12.5KV) Power Xfmr-TC Spare
1008702 200132 - Power Xfmr-TC(4.67MVA, 66-33KV) Power Xfmr-TC Spare
1008705 200144 - Power Xfmr-TC(14.95MVA, 66-12.5KV) Power Xfmr-TC Spare
1009347 200185 - Power Xfmr-TC(2.25MVA, 66-12.5KV) Power Xfmr-TC Spare
1017003 200358 - Power Xfmr-TC(500KVA, 66-25/12.5KV, 1 phase) Power Xfmr-TC Spare
1015515 201077 - Power Xfmr-TC(333KVA, 12.5-4.16KV, 1 phase)  Power Xfmr-TC Spare
1013019 201078 - Power Xfmr-TC(333KVA, 12.5-4.16KV, 1 phase)  Power Xfmr-TC Spare
1013020 201079 - Power Xfmr-TC(333KVA, 12.5-4.16KV, 1 phase)  Power Xfmr-TC Spare
1013021 201080 - Power Xfmr-TC(333KVA, 12.5-4.16KV, 1 phase)  Power Xfmr-TC Spare
1015639 201082 - Power Xfmr-TC(500KVA, 25-12.5KV, 1phase) Power Xfmr-TC Spare
1016079 201083 - Power Xfmr-TC(500KVA, 25-12.5KV, 1phase) Power Xfmr-TC Spare
1016083 201084 - Power Xfmr-TC(250KVA, 25KV-600V, 1 Phase) Power Xfmr-TC Spare
1019171 201086 - Power Xfmr -TC(750KVA, 25-12.5KV, 1phase) Power Xfmr-TC Spare
PT's
1006201 130020 -PT 145KV PT Spare
1009354 130200 - PT 66 KV PT Spare
1015821 130394-PT 15/25KV PT Spare
1016070 130422 -PT 145KV PT Spare
1016071 130423 -PT 145KV PT Spare
1016072 130424 -PT 145KV PT Spare
1016073 130425-PT 145KV PT Spare
1017029 130426 -PT 15/25KV PT Reserved Spare
1017033 130429 -PT 15/25KV PT Reserved Spare
1017036 130432 -PT 15/25KV PT Reserved Spare
1017269 130434 -PT 15/25KV PT Spare
1017270 130435-PT 15/25KV PT Spare
1017271 130436 -PT 15/25KV PT Spare
1019294 130532-PT 15/25KV PT Spare
1019295 130533-PT 15/25KV PT Spare
1019296 130534 -PT 15/25KV PT Spare
1019297 130535-PT 15/25KV PT Spare
1019298 130536 -PT 15/25KV PT Spare
1019299 130537-PT 15/25KV PT Spare
1019300 130538 -PT 15/25KV PT Spare



Entity
1019301
1019302
1019303
1019406
1019407
1019408
1019409
1019410
1019411
1019412
1019413
1019414
1019415
1019416
1019417
1019418
1019419
1019420
CT's
1013055
1013051
1013052
1014727
1014728
1016057
1016060
1016061
1017937
1017939
1017942
1017949
1018226
1019359
1019360
1019361
1019362
1019363

Newfoundland Power Spare Parts and Equipment Inventory

Entity Name

130539 - PT
130540 - PT
130541 - PT

15/25 KV
15/25 KV
15/25 KV

130547 - PT 66KV
130548 - PT 66KV
130549 - PT 66KV
130550 - PT 66KV
130551 - PT 66KV
130552 - PT 66KV
130553 - PT 66KV
130554 - PT 66KV
130555 - PT 66KV
130556 - PT - 145KV
130557 - PT - 145KV
130558 - PT - 145KV
130559 - PT - 145KV
130560 - PT - 145KV
130561 - PT - 145KV

120025 - CT - 66KV (1200:5)
120026 - CT - 66KV (1200:5)
120027 - CT - 66KV (1200:5)
120039 - CT - 66KV (1200-100:5)
120040 - CT - 66KV (1200-100:5)
120075 - CT- 138KV (1200-100:5)
120076 - CT- 138KV (1200-100:5)
120077 - CT- 138KV (1200-100:5)
120109-CT- 25KV (1200-100:5)
120110-CT- 25KV (1200-100:5)
120111-CT- 25KV (1200-100:5)
120112-CT- 25KV (1200-100:5)
120114-CT- 15KV (600/300:5)
120159 - CT - 66Kv

120160 - CT - 66Kv

120161 - CT - 66Kv

120162 - CT - 66Kv

120163 - CT - 66Kv

Classification
PT
PT
PT
PT
PT
PT
PT
PT
PT
PT
PT
PT
PT
PT
PT
PT
PT
PT

CT
CT
CT
CT
CT
CT
CT
CT
CT
CT
CT
CT
CT
CT
CT
CT
CT
CT

PUB-NP-235, Attachment B
Page 5 of 6

Entity status
Spare
Spare
Spare
New
New
New
New
New
New
New
New
New
New
New
New
New
New
New

Spare
Spare
Spare
Spare
Spare
Spare
Spare
Spare
Spare
Spare
Spare
Spare
Spare
New

New

New

New

New



PUB-NP-235, Attachment B

Page 6 of 6
Newfoundland Power Spare Parts and Equipment Inventory
Entity Entity Name Classification Entity status
1019364 120164 - CT - 66Kv CT New
CT/PT's
1013136 250006 - CT/PT 25KV (600:5) Metering Equip Reserved Spare
1013137 250007 - CT/PT 25KV (600:5) Metering Equip Reserved Spare
1013726 250009 - CT/PT 25KV (600:5) Metering Equip Reserved Spare
1015969 250018 - CT/PT 15KV (400:5) Metering Equip Spare
1015970 250019 - CT/PT 15KV (400:5) Metering Equip Spare
1016102 250020 - CT/PT 15KV (400:5) Metering Equip Spare
1018081 250031 - CT/PT 15KV (800:5) Metering Equip Reserved Spare
1019179 250071 - CT/PT 25KV (300/150:5) Metering Equip Spare
1019180 250072 - CT/PT 15KV (600/300:5) Metering Equip Spare
1019181 250073 - CT/PT 15KV (800/400:5) Metering Equip Spare
1019398 250077 - CT/PT 15KV (1200/600:5) Metering Equip Spare
1019399 250078 - CT/PT 15KV (1200/600:5) Metering Equip Spare
1019400 250079 - CT/PT 15KV (1200/600:5) Metering Equip Spare
1019401 250080 - CT/PT 15KV (1200/600:5) Metering Equip Spare
1019402 250081 - CT/PT 15KV (1200/600:5) Metering Equip Spare
1019403 250082 - CT/PT 15KV (1200/600:5) Metering Equip Spare
1019421 250083 - CT/PT 15KV (800/400:5) Metering Equip New
1019422 250084 - CT/PT 15KV (800/400:5) Metering Equip New
1019423 250085 - CT/PT 15KV (800/400:5) Metering Equip New
1019424 250086 - CT/PT 25KV (600/300:5) Metering Equip New
1019425 250087 - CT/PT 25KV (600/300:5) Metering Equip New
1019426 250088 - CT/PT 25KV (600/300:5) Metering Equip New
1019427 250089 - CT/PT 15KV (800/400:5) Metering Equip Reserved Spare
1019428 250090 - CT/PT 15KV (800/400:5) Metering Equip Reserved Spare
1019429 250091 - CT/PT 15KV (1000/500:5) Metering Equip New
1019430 250092 - CT/PT 15KV (1000/500:5) Metering Equip New
1019431 250093 - CT/PT 15KV (1000/500:5) Metering Equip New
1019432 250094 - CT/PT 15KV (600/300:5) Metering Equip New
1019433 250095 - CT/PT 15KV (600/300:5) Metering Equip New
1019434 250096 - CT/PT 15KV (600/300:5) Metering Equip New



PUB-NP-235

Attachment C

Supply Issues and Power Outages

Requests for Information on the Island Interconnected System

Newfoundland Power
Wood Pole Consignment Inventory

Newfoundland Power



PUB-NP-235, Attachment C

Page 1 of 1

T00'€ 8v8 €4T°C g8 LET gcL 26¢e 44" €8T Sve e S[elol
14 € T T ¢ SSe|0 0L
ac 14 8 S T [4 ¢ SSe|O 99
6T 61 61 T SSe|0 99
[4 [4 [4 € SSe|0 09
9T 9 () S € [4 ¢ SSe|0 09
€T €T €l T SSe|0 09
ve 0¢ 1% T T [4 ¥ SSe1Q GS
18 ST 9¢ 1€ T T € € SSe|0 99
69 €€ 9¢ 81 [4 S T ¢ SSe|0 99
9 9 S T T SSe|0 99
<72 €¢ ¢S [4 14 L 91 [4 ¢l 6 ¥ SSe10 0§
19 61 47 [4 [44 ST € € SSe|0 09
L8 8T 69 [4 T 6V [4 T [4 9 9 ¢ SSe|0 09
€T 8 S T 1% T SSe|0 05
0cy 14 90€ 91 6¢ |7 SL 17 8¢ 6€ LE ¥ SSe1Q Gy
0ce 09 097 S 6 144 [At] 0¢ 8 7 7 € SSe|0 G
T€C <72 99T [4 98 ST [4 ¢l € 9T C SSe|0 G
6¢ L [44 S 1T T S T SSe|0 Gy
65Y 14" 4% LT G€ ¥S [44 9¢€ €9 0§ A ¥ SSe[0 ov
¥81 ti% 8cT ¢l ¢l ve 6€ 9¢ 0T 8 L € SSe|0 ov
S9T 514 91T L 89 14" € 0¢ 6 9 ¢ SSe|D Ov
LE [4 GE €€ [4 T SSe|D ov
T€E 6L 4514 qT 9¢ 6 g8 67 T¢ 9€ 1€ PSSelO G
89 qT €9 T A4 T 1% € SSe|0 S¢
6€ 6€ 6€ C SSB|D S¢
9¢ 9¢ 9¢ T SSe|D S€
ove LcT €T¢ T 8 % 0S ve €T €¢ 8y ¥ SSe[0 0€

S|e10] puelo >H___o©n_ ‘_w__QQ:w Sjejo m___>Cmr_Qme sanbseg xne 1104 asipeJded ANogJeH MmaN $91q009) S|le4puels Jspues) 9XeT] 18 mmm_U\—._umcwl_

A101U8AU| JUBLIUBISUOD) 8]0d POOAA
13MOd puUR|pUNOJMaN




	PUB-NP-235
	PUB-NP-235, Attachment A
	PUB-NP-235, Attachment B
	PUB-NP-235, Attachment C




